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400
300

1000
900

700

1100

500

1200

2000
2100
1400
2200

2300

*

CONTINUE
CONTINUE
TVOP=TAK(I,1)

ND=NSD-1

L0=3600./DTI

6: LO.GT.NLO) NLO=NLO+I

po 500 1=1,NDT
ND=ND+1

QD=0 .

DO 600 J=1,24
SUMDTI=0.

DO 700 IK=1,NLO

IF(IK.EQ.NLO) THEN

DTIDUM=DTI
DTI=3600.-SUMDTI

SUMDTI=SUMDTI+DTI

IF((I.LEQ.I).AND.(J.EQ.l)) THEN

IG=1GT(1,1)

IDT )
TASTAK(L D)
ELSE
IF(J EQ.I) THEN

IGT

+(3600.-SUMDTI

IB=(1BT(1-1, 24} (3600, -SUMDT I}+157(1:1)* SUMD

TA (TAK(l 1,24)*(3600.-SUMDTI)+TAK(I ,1)* SUMDTI)/ 3600.

IG (IGT(I - l (3600,-SUMDTI)+IGT(1, ) * SUMDTI)/ 3600,

iSGOO SUMDTI +1D T

TA=(TAK(I,J-]

END IF

TRETRK
VWUV

ST=J-1.+SUMDTI/ 3600.

CALL SOLAR
CALL

IF(Z.EQ.0.) GO TO 800
QDTI=H (5,1) *A(5) * (T (5, 1) -TR) *bTI

DO 900 IL=1,5
DO 1000 IM=1,MT(I

L)

e (IL, im)=T (1L, m)

CONTINUE
CONTINUE
TVOP=TVO
QH=QH+QDTI

3600.-S0NDY! J+TA

IF(IK.EQ.NLO) DTI=DTIDUM

CONTINUE

0 N s 51

CONTINUE

TVOT(l,J)=TVO-273.15

QHT(I, J)=QH
QD=QD+QH
CONTINUE
QDT(I')=QD
QT=QT+QD
CONTINUE
WRITE(8,1200)

FORMAT(Ix,'OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER'

‘SUMDTI

MDTI) / 3600.

UMDTTI)/ 3600.

/3600.

([J\]ﬁ SUMDTI}/ 3600.

IX, THROUGH TRIANGLE ROOF SYSTEM ')

ND=NSD-1

DO 1300 1=1,NDT
ND=ND+1
WRITE(8,2000)

FORMAT(Ix, '-RATE OF HEAT TRANSFER PER HOUR')

DO 1400 J-1,24

WRITE(8,2100) ND,J QHT(1, )
FORMAT(Ix, 'QHT(',13,

CONTINUE
WRITE(8,2200)
FORMAT(IX, -RATE
WRITEs, 2300) ND
FORMAT(IX, ' QDT(
CONTINUE

WRITE(s,1850) QT

g

,13,

1)

=

w12, ')='E12.4,1X,

E12.4, Ix,

"JIDAY")

"JIHR.Y)

HEAT TRANSFER PER DAY’)
T(

1
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-TOTAL
' ='1EL2.

gg(’l 51(9,0’9')EMPERATURES ARE DIVERGE)

1%
STOP
STOP

1850  FORMAT
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DIMENSION  (6),XR(6)
FY(X E,ANG)=SQRT(1.+E*E*SIN(ANG)*SIN(ANG))

* (ATAN( (X-E*COS(ANG))/SQRT(1.+E*E*SIN(ANG)*SIN(ANG)))
* +ATAN(E’ COS(ANG)/SQRT(1~+E*E*SIN(ANG)*SIN(ANG))))
PI1=2.*ASIN(1.)
WEIGHTING FACTORS AND FUNCTION ARGUMENTS
DATA Yy, (2, (3), (4, (5), (6)/0o.171324492,0.360761573,

* 0.467913935,0.467913935,0.360761573,0.171324492/
DATA XR(1),XR{2),XR(3),XR(4),XR(5) ,XR (6)/-0.932469514,
* -0.661209386,-0.238619186,0.238619186, 0.661209386,

* 0.932469514/

X=BIC

Y=A/C
Z=X*X+Y*Y-2.*X*Y*COS(ANG)
YY=Y/2.

FI=0.

DO 100 1=1,6
E=YY+YY*XR(l)
FE=FY (X, E, ANG)

conine”’ ™

L3 W %Z\N’EW*éo)s e lf VANARGT -ANC) DRy
PIINRBIHR CﬁéANCS A PSR f*sn\l (ANG))-1.)

*ALOG((l +X*X) (1. +Y*Y)/(1 +Z))
+YHY*ALOG(Y*Y* (1. +2)/ ((1.4Y*Y)*z))
+X*X*ALOG (X*X*(1.+X*X)**COS(2.*ANG)/ (Z*(1,+Z)**COS(2.*ANG))))

+Y*AT 1. /Y)+X*ATAN /IX)-SOR *ATAN(L./S
F(STNIANGISINGZ *ANG) 2 BSORT( L XSS RTARE ¥ IN(aNG)

* (ATAN(X*COS(ANG)/SQRT(l JHXEX*SIN(ANG)*SIN(ANG)))

+ATAN((Y-X*COS(ANG)) /SQRT(1.+X* X*SIN(ANG)*SIN(ANG))))

» __+COS(ANG)*FI)/ (PI*Y)

RETURN

END

* X

R S

*

SUBPROGRAM (SOLAR INTENSITY)

AA SURFACE AZIMUTH ANGLE
AX AXIS ANGLE
Co VALUE OF COSINE OF INCIDENCE ANGLE
COz : VALUE OF COSINE OF ZENITH ANGLE
DE DECLINATION
E EQUATON OF TIME CORRECTION
GS SOLAR RADIATION INTENSITY
HA : HOUR ANGLE
1B BEAM RADIATION INTENSITY
ID DIFFUSE RADIATION INTENSITY
G GOBAL RADIATION INTENSITY
LA LATITUDE
LL LONGITUDE OF LOCAL
LS LONGITUDE OF STANDARD TIME
ND : NUMBER OF DAY IN THE YEAR
RB : BEAM RADIATION FACTOR
RD : DIFFUSE RADIATION FACTOR
RR REFLECTED RADIATION FACTOR

ST ™ » ™  TIME
SOT SOLAR TIME

SUBROUTINE SOLAR

DIMENSION GS(4),AA(4),SL{4)

REAL LA,LL,LS,IG,ID

COMMON /LC1/W1, 2, 3, 4/LC2/LA,LL,LS,AX,/LC5/ST,ND,IG,ID,/LC6/GS
PI=2.*ASIN(1.)

RA=PI/180.

DG=180./P |

ILA=LA

DEC=LA-ILA

LA=ILA+DEC/ 0.60

DE=23.45*SIN(360.*(284,+ND)*RA/3 65 .)* RA
IAX=AX

DEC=AX-IAX

AX=IAX+DEC/0.60

AA(1)=AX-90.

AA (2)=AA(1)+90.

AA(3)=AA(11+180.

AA(4)=AA(1)+270.

AA(1)=AA(1) *RA
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LOLD

SE

FTMSUM+1)z QJ*T?’?ITa(TI’(l (L0 L)/K(1.1)+DL2IK(L,2))
i
o T %N IL()Ei;It)(@*l)TDlISZIK(l,Z))-H(l 1)A()
TM&UW.,MSW E bk By Ao
END |F
b0 %00 =2t ()2
SUML=0

DL2=DL*(M-I)- (SUML-L(I,IM))
DL3=SUML-DL*(M-I)

GO TO 310

END IF

CONTINUE

iF(oL2.GE. oLy THEN

1k (pL3.GE. pL)

FT (MSUM+) KéENJ A1)
AT(N&MH\/LN&J\(/H\J/Z )=|é<(

(AT(MSUM+M, MSUM+M)=-2 *K

i, Al
- (||
AT(MSUM+M,MSUM+M+1)= ;é(r j)*A

DL4-DL-DL3 ~

IF(DL3.GE.DL4) THEN

FT(MSUM+M)=K(I,3)*A(1)* (T(I ,M -=1)-T (1 ,M)) /DL

* FA()* (T, M+D)-T (I ,M))/ (DL3/K(1,J)+DL4/K(I,J+1))
SDEN(1,3)*c (1, J) *A(1)*DL*(T(I ,M)-TP(I,M))/DTI

AT(MSUM+M,MSUM+M-1)=K(l,J)*A(l ) /DL

AT(MSUM+M, MSUM+M)=-K(1,))*A(1) /DL-A(1)/ (DL3/K(I, J)+DLA/K (1, J+1)

EENE j)*é:el J%*AEI)*DL/DTI

ATéMSUM+M ,MSUM+M+1)=A(l)/ (DL3/K(1,3)+DL4/K(1,I+1))

FT(MSUM+M)= K(I J)* A(I) (T(I M 1)-T (I, M)) /DL
(TJ( M))/(DL3/K(I J)+DL4/K (1,3 +1))

: g el TR el

A(X) (T, M) TP (I,M) )/DTI

AW%TJM%%W KOt 10taq | (DLIK(I+DLAIK(1,3+1)

- DEN(I J) *c (1, J) * (DL/2
+DEN(I,J+D)*c(1,J+1)* (DL/2 DL3)) A()/DTI
AT(MSUM+M MSUM+M+1)=A(1)/ (DL3/K(1,J)+DL4/K (I ,J+1))

l DLI. GEIZ].Z) THN
TR0 My-T ) oLKa -1y DL2K0 1))
+K|JiJ2A(|g i’l Iléu(JM)liDZ)
| |
AM%%WM il i oo
ATIMSUMALNS U K(I,JJ) |8 L2

HPAM?UW Ig JL [DTI

+EN

AT MSUM+M MSU AﬂlM {I’

= i %K |(P3 )+DL2/K
A Kﬁ% (ISLS/KEI:J)_ B)L4/KII,

* %k % %

58
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3))*A(1)/DTI

))
)
)
)

L/2.-DL3))
)+DL2/K (1,
L/K(1, 3 -1)+DL2/K(I, J

M)ID

i

e
)*C (1,3+1)* (DL/2.-D

R R RIOIZA k)
A1)/ (DL3/K(l,J)+DLAIK(I ,J+

+DEN(Il,j+

HMJ’M’ MSUM#Mt1)

(

D
D
) THEN

?XT H
+M-1)=]
ce.PL3
-DL3

1

ATIVSLMAMMSUMEL
*

AT(MSUM#M M

AT(MSUM+M, MSUM+



* +K(1,I)*A (1)* (T(I ,M+1)-T (I ,M))/DL3

* -DEN (I, J1*c (I, J)*A(l)* ((DL+DL3)/2.)

* *(T(I,M)-TP (I,M) )/DTI

AT(MSUM+M,MSUM+M-1)=A (1 ) / (DL1/K{l ,J -1)+DL2/K(l ,J))
AT(MSUM+M,MSUM+M)=-A (1) /(DLL/K(l ,J -1)+DL2/K(l ,J3))-K (1 ,J)*A(1)/DL3

* -DEN(I,J)*c(1,J)*A(1)*((DL+DL3)/2.)/DTI
AT(MSUM+M,MSUM+M+1) =K (1 , J)*A (1) /DL3

END IF

ELSE

DL3-DL3-L(I ,NL(I))

DL4A=L(I ,NL(I))

IF (DL3.GE.DL4) THEN

IF (L (I, NL(I )—1).GE.(DL+DL3)) THEN

fFT(MSUM+M):fA(k‘lizc*ﬁ_H),*Ml” IMT( M)§/R| ,J)+DLA/K(1,1+1))

—DEN(I,J)*C(I,J)*A(I) ((DL+DL3+DL4)/2)

* *(T(I,M) =TP(I,M) )/DTI

AT(MSUM+M,MSUM+M-1i=K(I , J)*A (I ) /DL

AT(MSUM+M,MSUM+M)=-K(I, J)*A (1 )/DL-A(1 )/ (DL3/K(l ,J)+DL4/K (1 ,J+1))

* SDEN(I,3)*c(l,J)*A (1 )*((DL+DL3+DL4)/2.)/DTI

AT(MSUM+M,MSUM+M+1)=A(1)/ (DL3/K(1,J)+DL4/K(I,J+1))

ELSE

DLI-(DL+DL3)-L (I ,NL(1)-1)

DL2=DL-DL1

IF (DLI.GE.DL2) THEN

FT(MSUM+M)=A()* (T(I,M-1)-T (1 ,M)) / (DLI/K (1,3 -1)+DL2/K(I,J))
+A(1)* (T(I M+1)-T(i,M))/ (DL3/K(I,3)+DL4/K (1 ,J+1))

WG (] DL/2
HDENUC e 3] (]DL§+(DL3+DL4L)72
*A(l) * (T(I M)-TP (I,M) )/D

AT (MSUM+M, MSUM+M-1)=A (1) / (D LI/Kd, J I)+DL2/K (1,3))

*AT(MSUM+M,MSUM+M)-=A?EI5 EDLl/KEl J+[))LD|_2/K( ﬁ)

* Ok F

[ (DL3/K K(IJ+]
- (DEN(1, J-1) *c (1) 3-1) *(DL/2 -DL2)
* +DEN(1,3)*c(l,d)* (DL2+(DL3+DL4)/2.))*A(1)/DTI
AT(MSUM+M,MSUM+M+1)=A(1)/ (DL3/K (I, J)+DL4/K (1 ,J +1))

_FT(MSUM+M)=A(1)* (T (1M =1)-T (1, M)) /(DLL/K(I, 3 -1)+DL2/K(1, J))
+A()* (T, M+D)-T(1,M))/ (DL3/K(1,3)+DL4A/K (I, +1))

* SDEN(I,d)*c(l, J) *A (1)* ((DL+DL3+DL4)/2.)

* *(T(I,M) =TP(I,M) )/DTI

AT(MSUM+M,MSUM+M-1)=A(1) / (DLL1/K(I,J -1)+DL2/K(I ,J))

AT(MSUM+M MSUM+M)=-A(1)/ (DLL/K(l,J -1)+DL2/K(l,J))

A1) L3/KI 1K (1,3+1
x DI(EI\i(I( ( J)J A? L)i ?l(DL+D+L3?2|'DL4 )[2.)ipTi

AT(MSUM+M,MSUM+M+1)=A(l)/ (DL3/K(I n+oLaik(l,3+1y)
END IF
END IF
ELSE
IF(L(I,NL(l1)-1).GE.(DL+DL3)) THEN
FT(MSUM+M)=K(I,3)*A(1)+ (T(1,M -1)-T (1,M )) /DL
FA()* (T, M+1)=T (X,M)) / (DL3/K(I ,3)+DLA/K (1,3 +1))
- (DEN (I, J) *c (I, J) * (DL/2.+DL3)
+DEN (I, J+1) *c (I, J+1) * ((DL4-DL3) .))
*A(1) +(T(1,M) -TP(I,M) )/DTI
AT(MSUM+M,MSUM+M-1) =K (I , J)*A (i)/D L
AT(MSUM+M,MSUM+M)=-K(1 , J)*A (1 )/DL-A(1)/ (DL3/K(I,J)+DLAIK (I ,J+1))

) RN A SC ’J*l(D“g IE’LBI% 1) /0TI

AT(MSUM+M MSUM+M+1)= A(l)/ (DQ3/K(| 1)¥DL

DLI-(DL+DL3)-L(I,NL(l)-1)

R

FT(MSUM+M)=A()* (T(I,M=-1)-T (1 ,M))/ (DLL/K(I,J -1)+DL2/K(I,J))
FA() (T, M+1)- T(I M)) / (DL3/K (I ,d)+DLA4IK (I, +1))

DEN (1, J | )4 [PEf2 - oL2
+I§EN’\“ ) C( W ?DTA D)L3 12.))
*A(I)*(T(I M) TP(I M)

AT (MSUM+M,MSUM+M-1) = A(I)/(DLl/K(I J I)+DL2/K(I )
AT(MSUM+M,MSUM+M)=-A(1 )/ (DL1/K 1)+DL2/K(]
» A el 3y ebranc( 4]

* Ok *

+DL4/K
- (DEN (I, J) *c (I, J) * (DL/2 .+DL3)
* +DEN(I1,J+1)*C(1,J+1)* ((DL4-DL3)/2.))*A(1)/D TI

AT(MSUM+M,MSUM+M+1)=A(l)/ (DL3/K (I, J)+DL4A/K(I, J+1))
END IF
END IF
END IF
END IF

J=NL(1)
MEMT(]
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DL2=DLDUM
IF(L(I,NL(I)).GE.DL2) THEN
FT(MSUMHM)=K (1, 9) A (1) * (T ( IM-1)-T (1 ,M))/DL2
+H (1, 2) *A (1) * (TVO-T (X, M) )

* +E(1,2)*A (1)* (VI(1)-SB*T(I,M)**4.)/(1.-E(X,2) )
* SDEN(I1,d)*c(1,3)*A(1)*(DL2/2.)* (T(I,M)-TP (i,M))/DTI
AT(MSUM+M,MSUM+M-1)=K (I, j ) *A (I ) /DL2
AT(MSUM+M,MSUM+M)=2K(l, 3 ) *A(L)/PL2-H (1, 2)*

-4.%E(1,2 *AF *SB (I,M **3 I(l.-E(1,2))
* DEN(I J)*C (1, 3 *A(I) +(DL2/2.) /DT
AT(MSUM+M,NVA)=H(1 ,2)*A (1)

DL1=DL2-L(I,NL(1))
DL2=L (I,N L (i) )
IF (DL1.GE.DL2) THEN
FT(MSUM+M)=A( 1) * (T(1,M-1)-T (1 ,M))/ (DL1/K(I ,J -1)+DL2/K(I,J))
+H(1,2)*A (1)* (TVO-T(I,M))
HE (1, 2) *A(1) * (VI(1)-SB*T(I,M)**4.)/(1.-E(1,2))
- (DEN(I,J-1)*c (1,3-1)*((DL1-DL2)/2.)
+DEN (1, J) *C (1 ,J) *DL2)*A(I Y* (T(1,M)-TP (1,M) )/DTI
AT(MSUM+M,MSUM+M-1)=A (I )/(DLl/K(I J-1)+DL2/K(1,J))
_AT(MSUM+MMSUM+M)=-A(1)/ (DLL/K{I,J -1)+DL2/K(1,3))-H (1 ,2)*A(l)
-4 *E (I, 2)*A(I)*SB*T(I M)**3./(1.-E(1,2))
* S (DEN(I, J-1) *C (I, J-1)* ((DL1-DL2)/2.)
* +DEN (1,J)*C (1,J) *DL2)*A (1 )/DTI
AT(MSUM+M,NVA)=H(1,2)*A(I)
ELSE
FT(MSUM+M)= A§| M-1)-T (1 ,M))/ (DLL/K(I,Jd-1)+DL2/K(I,J))

* (T’sl TV.O-T( M
: R f CIC-SERT (1 M) *4.)1(1-E(1,2)

DEN(I J) Y*A(1)* ((DL1+DL2)/2.)

ATEMSS l\KIAMSU Cb“?;
(i)

* ok * ¥

J
M

/E)I{/ VLK) oen
R e

MSUM+M (

g
DEN
AT(MSUM+M NVA)=H(1,2]*
END IF

END IF

MSUM=MSUM+M

CONTINUE
SUMVEN=0.

SUMVEN=SUMVEN+H(1,2)* A (1)* (T (1,M T (1)) -TVO)
CONTINUE

MSUM=MSUM+1

FT (MSUM)=SUMVEN+VM*CAV*(TA-TVO)-RM+CAR*(TVO-TVOP)/DTI
ISUM—0

SUMAT=0.

DO 500 1=1,5

ISUM=ISUM+MT(I )

AT(MSUM,ISUM)=H(1,2)*A (1)

SUMAT=SUMAT-H(I ,2)*A (1)

CONTINUE

AT(MSUM,MSUM)=SUMAT-VM*CAV-RM*CAR/DTI

IF(MSUM.NE.NVA) WRITE(8,") 'MSUM NOT EQUAL NVA,MSUM=',MSUM
DO 600 1=1.NVA

BT ( S:FT(l)

CONTINUE

GALL GAUSSIINVA)

| SUBPROGRAM (FIND WM AND RV VALUE)

R o

/LC9/T TP V0, T\7 OP/LC12/CAV,CAR

fmﬁﬁgﬁ e
E D%T)Ga-g?io(&%;g %TEMP -350.)/50.

IF (TEMP.GT.300.) THEN



0O 0000

100

O 0o

200
100

400

o000

DENAIR=1.1614-0.1664*(TEMP-300.)/50.
CAIR=1007.+ 2 .*(TEMP-300T)/50.

ELSE

| F(TEMP.GT.250.) THEN
DENAIR=1.3947-0.2333*(TEMP-250.)/ 50.
CAIR=1006.+1.* (TEMP-25 7)/50.

ELSE
DENAIR=1.7458-0.3511*(TEMP-200.)/ 50.
CAIR=1007.-1.*(TEMP-200.)/50.

END IF

END IF

END IF

IF(I.EQ.I) THEN

DENV=DENAIR

CAV=CAIR

DENR=DENAIR
CAR=CAIR

END IF

CONTINUE
VM=DENV*VMDUM
RM=DENR*RMDUM
CAV=(CAV+CAR)/ 2.
RETURN

END

SUBPROGRAM (FIND VJ VALUE)
V3. RADCHTY

SUBROUTINE JVALUE
DIMENSION NL(5),L(5,10),K(5,10), DEN(5, 10),C(5,10),RE(5),H(5,2),
E(5,2) ,A(5) ,F (5, 5) ,MT(5) ,T(5,100),TP(5,100),
VJ (5)/AJ(5,5) ,Bj (5)
REAL L,K
COMMON /LC3/NL,L,K,DEN, C, RE,H,E,DL,DTI/LC4/A, F
JLC7/MT,NVA/LC9/T, TP, TVO,TVOP/LC13/VJ/LC15/AJ,BJ

SB=5.67/10.**8.
DO 100 1=1,5

IF (J.NE.1)*AJ (1,3)=-(1.-E(1,2) )*F (1, J)
CONTINUE

BJ (1 )=E (1 /2)*SB*T (I ,MT (I ))**4 .
CONTINUE

CALL GAUSS2(5)

RETURN

END

| SUBPROGRAM (GAUSS ELIMINATION)

SUBROUTINE GAUSSI(N)

DIMENSION A (500,500),B(500),X(500)
COMMON /LC11/X/LC14/A B

CALL SCALE1 (N)

DO 100 1=1,N-I

CALL PIVOT1(N,I)

DO 200 J=1+1,N

RATIO=A(J,1)/A (1,1)

DO 300 K=1+1,N

A(i’k)=A(j,K)-A (I, K) *RATIO

CONTINUE

B (J) =B {J) -B (I) *RATIO

CONTINUE
CONTINUE

X(N)=B(N)/A(N,N)
DO 400 L=N-1,1,-1
SUM=0.

DO 500 M=L+1,N
SUM=SUM+A(L,M)*X(M)

CONTINUE

X (L) = (B (L) -SUM) /A (L, L)

CONTINUE

RETURN
END

SUBPROGRAM (PERFORM SCALING FOR GAUSS ELIMINATION)

SUBROUTINE SCALE1(N)
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DIMENSION A(500,500), B (500)
COMMON /LC14/A,B

DO 100 1=1,N
AVEEABS A (1,1))

DO 200 J=2,N
AOTH=ABS(A(I,J))

IF (AOTH.GT.AMAX) AMAX=AOTH
CONTINUE

DO 300 M=1,N
A(ILM)=A(I,M)/AMAX
CONTINUE

B{1)=B(I ) /AVEX

CONTINUE

RETURN

END

| SUBPROGRAM (PERFORM PARTIAL PIVOTING FOR GAUSS ELIMINATION)

SUBROUTINE PIVOTI(N,I)
DIMENSION A (500,500),B (500)
COMMON /LC14/A,B

J=|

AMAX=ABS(A (1 , 1))

DO 100 K=I+1,N

AOTH=ABS(A (K,1))

| F (AOTH.GT.AMAX) THEN
AMAX=AOTH

J=K

BD IF

CONTINUE
IF(J.NE.I) THEN
DO 200 L=I,N
DUMY=A(J , L)

AJ, L)=A(l,L)

A (1, L)=DUMY
CONTINUE
DUMY=B(J)
B(J)—B(l)

3 (1)=DUMY

END IF

RETURN

END

| --

| SUBPROGRAM (GAUSS ELIMINATION)

SUBROUTINE GAUSS2(N)
DIMENSION A(5,5),B(5),x (5)
COMMON /LC13/X/LC15/A,B
CALL SCALE2(N)

DO 100 1=1,N-I

CALL PIVOT2(N,I)

DO 200 J=1+1,N
RATIO=AJ, DA (L)

DO 300 K=I+1,N

A (i 'K)=a (i , K) -A (I, K) *RATIO
CONTINUE

BJ)=B(J) B (1) *raTIO
CONTINUE

CONTINUE

X(N)=B(N) /A (N, N)

DO 400 L=N-1,1,-1

DOM500 M=L+1,N
SUM=SUM+A(L,M)*X (M)
CONTINUE

X (L) = (B (L) -SUM) /A (L, L)
CONTINUE

RETURN

[END

| SUBPROGRAM (PERFORM SCALING FOR GAUSS ELIMINATION)
| —

SUBROUTINE SCALE2(N)
DIMENSION A (5,5),B(5)
COMMON /LC15/A,B

DO 100 1=1,N
AMAX=ABS(A(I,1))
DO_200 J=2 N

ﬂ@#%w AVBSOH
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CONTINUE
DO 300 M=1,N
A(L,M)=A(1,M)/AMAX
CONTINUE
B(1)=B(l)/AMAX
CONTINUE

RETURN

END

SUBPROGRAM (PERFORM PARTIAL PIVOTING FOR GAUSS ELIMINATION) |

SUBROUTINE PIVOT2(N,I)
DIMENSION A (5,5),B(5)
COMMON /LC15/A,B

AMAX=ABS(A(1,1))
DO 100 K=I+1,N
AOTH=ABS(A(K,I))
IF(AOTH.GT.AMAX) THEN
AMAX=AOTH

J=K

END IF

CONTINUE
IF(J.NE.I) THEN
DO 200 L=I,N
DUMY=A(J, L)
A(J,L)=A(l,L)
A(l,L)=DUmY
CONTINUE
DUMY=B(J)

B(J) =B (I)
3(1)=DUMY

END IF

RETURN

END



PRO1T

<INPUT DATA FOR CALCUTATE HEAT TRANSFER THROUGH
TRIANGLE ROOF SYSTEM

<ROOF DIMENSION (m.)
wl, 2, 3, 4

10,5.77,5.77,20
«LOCATION OF ROOF (degree.minute)
LA, LL,LS

13.40,100.37,90
«ANGLE OF AXIS OF ROOF,AX (degree.minute)

0

<NUMBER OF MATERIAL LAYER OF ROOF,SIDE 1
NL (1)

>

1

<MATERIAL PROPERTIES OF ROOF,SIDE 1
THECKNESS, L (m.)

THERMAL CONDUCTIVITY, K ( /! .K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,c (J/kg.K)

foi

8.248

1922

1005

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 2
NL (2)

>

1

«MATERIAL PROPERTIES OF ROOF,SIDE 2
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,c (J/kg.K)

0.01

8.248

1922

1005

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 3
NL (3)

>

1

«MATERIAL PROPERTIES OF ROOF,SIDE 3
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT.c (J/kg.K)

0.01

8.248

1922

1005

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 4
NL (4)

>

1

«MATERIAL PROPERTIES OF ROOF,SIDE 4
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,c (J/kg.K)

0.01

8.248

1922

1005

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 5
NL (5)

>

2

«MATERIAL PROPERTIES OF ROOF,SIDE 5
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

65
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SPECIFIC HEAT.c (J/kg.K)

0.01,0.05
0.16,0.045

SCI,16

1CS9,837
«REFLECTIVITY, RE(l)

0.4,0.4,0.4,0.4,0.4

«CONVECTION HEAT TRANSFER COEFFICIENT (W/sq.m.)
H;1,1)

H 1,2)

20,20,20,20,20
1C,10,10,10,10
«EMISSIVITY
E;1,1)
Eil1,2)

0.38,0.88,0.85,0.88,0.91
0.s3,0.88,0.88,0.88,0.07
«DISTANT BETWEEN NODE, DL (m.)

0.C075
«STEP TIME,DTI (sec.)
>

c

.7COM TEMPERATURE,TR (C)
>

25
«VENTILATION VOLUME,VMT (cu.m./sec.)
>
0
«CURATION TIME (dd,mm)
SCD,Sw
;, AWM
>
?Ll 6
0}
«GLOBAL RADIATION,GIT(1,J) (W/sg.m.)
0,0,0,0,2.78,5.56,158.3,397.22,611.11,850,961.11,1025,1019.44,961.11,813.88,655.55,32

4.44,210756,50,0,0,0,0,0
«DIFFUSE RADIATION,DIT(1,J) (W/sg.m.)

o, ,0,0,0,0,19.44,63.89, 119.44, 161.11, 183.33,213.89,219.44,211.11, 169.44, 138.89,86.11
,33.88,5.56, 0,0, 0,0,0
«AM3IENT TEMPERATURE (C)

2",26.9,26.8,26.8,26.7,26.9,27.4,28.4,30.1,31.5,32.4,33.5, 34.8,35.3,35,33.5,32.5,31.3
13..9,30.6,3CLd, 3CK3,29.7,30.5



OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER

THROUGH TRIANGLE ROOF SYSTEM
-RATE OF HEAT TRANSFER

QHTIL52, 1)=
QHT(152, 2)=
QHT(152, 3)=
QHT(152, 4)=
QHT(152, 5)=
QHTI152, 6)=
QHT(152, 7)=
QHT(152, 8)=
QHT(152, 9)=
QHT(152,10)=
QHT(152,11)=
QHT(152,12)=
QHT(152,13)=
QHT(152,14)=

QHT(152,19)=
QHT(152,20)=
QHT(152,21)=
QHT(152,22)=
QHT(152,23)=
QHT(152,24)=

0

.5246E+01

0.4785E+01

0

0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0
0

.3678E+01
.3548E+01
.3578E+01
L4217E+01
.1395E+02
.3874E+02
. 7154E+02
.1098E+03
.1332E+03
.1515E+03
.1648E+03
.1705E+03
.1650E+03
.1527E+03
.1417E+03
.8442E+02
.4271E+02
.3635E+02
.2 684E+02
.2543E+02
.2338E+02
.2324E+02

w/m2
w/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
w/m2

PRO1T
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*

*

PRO1F

PRO1F

PROGRAM-IF (HEAT TRANSFER THROUGH FLAT ROOF SYSTEM
ON TRANSIENT CONDITION)

NL NUMBER OF MATERIAL LAYER OF ROOF
L THICKNESS OF ROOF
K THERMAL CONDUCTIVITY
DEN DENSITY OF MATERIAL
c SPECIFIC HEAT
RE REFLECTIVITY
H CONVECTION HEAT TRANSFER COEFFICIENT
E EMISSIVITY
A AREA
F VIEW FACTOR
GS SOLAR RADIATION INTENSITY
T TEMPERATURE OF ROOF
TA AMBIENT TEMPERATURE
TR ROOM TEMPERATURE
TVO TEMPERATURE OF VENTILATION AIR AT OUTLET

1
_DIMENSION NL(6) 1L (6, 10) ,K(8, 10) , DEN(6, 10),C(6(10),RE{6),H(6,2),
E{6,2),A(6),F(6,6) ,GS(5), MT (6) , T (6, 100) , TP (6, 100) ,
IGT(365,24),1DT(365,24) , TAT(365,24), TAK(365,24),
TT(365,24,6,2), TVOT(365,24),QHT(365,24),QDT(365)
REAL LA,LL,LS,IG,ID,L,K,IGT,IDT
INTEGER DD,SDD,SMM,FDD,FMM
COMMON Z/LC1/W1, 2, 3/LC2/LA,LL,LS,AX
/LC3/NL,L,K,DEN,c,RE,H,E,DL,DTI/LC4/A,F/LC5/ST,ND,IG,ID
/LCB/GS/LC7/MT,NVA/LC8/TA,TR,VM,RM,VMDUM,RMDUM
/LCO/T,TP,TVO,TVOP
OPEN(7,FILE='INI F.DAT 1)
OPEN(8,FILE='OOTIF.DAT")
CALL COMMEND 0
CALL COMMEND()
READ(7,*) WI, 2, 3
IF(( ]..LE.0.).OR. ( 2.LE.0.).OR. ( 3.LE.0.)) THEN
WRITE)**) 'DIMENSION OF ROOF ARE INVALID'
GO TO 25
END IF
CALL COMMEND()
READ(7,*) LA,LL,LS
| F((ABS(LA) .GT.90.) .OR. (ABS(LL) .GT.180.)
.OR.(ABS(LS).GT.180.)) THEN
WRITE!*,*) 'VALUE OF LA,LL,LS ARE INVALID'
GO TO 25

CALL COMMEND O

READ (7,*) AX
IF(ABS(AX).GT.90.) THEN
WRITE!*,*)" '"VALUE OF AX IS INVALID'
GO TO 25

END IF

CALL COMMEND O

READ(7,*) NL(1)

CALL COMMEND 0

READ (7,*) (L(1, 1)

READ (7,*) {K{1,1)

READ(7,*)

READ(7,*) (c(1,1),1=1, NL(1))
CALL COMMEND 0

READ(7,*) NL(2)

CALL COMMEND()

READ(7,*) (L(2,1),1=1,NL(2))
READ(7,*) (K(2,1),1=1,NL(2))
READ(7,*) (DEN(2,1),1=1,NL(2)
READ(7,*) (C(2,1),1=1,NL(2))
CALL COMMEND 0

READ(7,*) NL(3)

CALL COMMEND()

READ(7,*) (L(3,1),1=1,NL(3))
READ(7,*) (K(3,1),1=1,NL(3))
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*

| F(MM.EQ.9) ND=243+DD
IF(MM.EQ.I0) ND=273+DD
IF(MM.EQ.11) ND=304+DD
IF(MM.EQ.12) ND=334+DD
IF(ILEQ~1) then
NSD=ND

NFD-ND
END IF

CONTINUE

NDT=NFD-NSD+1

CALL COMMEND O

DO 10 1=1,NDT

READ(7,*) (IGT(l,J),J=1,24)
CONTINUE

CALL COMMEND 0

DO 20 1=1,NDT

READ(7,*) (IDT(1,J),J=1,24)
CONTINUE

CALL COMMEND()

DO 30 1=1,NDT

READ(7,*) (TAT(1,3),J=1,24)
CONTINUE

IF(NL(1).LT.3) THEN
DLUP=L(l,1)

DLUP=L(1,2)

IF(NL(1).LT.3) THEN
DO 12 J=1,NL(l)

IF(L (I, J) .GT.DLUP) DLUP=L(l,J)
CONTINUE

DO 13 =2,NL,1,-1

IF(L(1,3).LT.DLUP) DLUP=L(l,J)

CONTINUE

END IF

SUML=0.

DO 14 J=1,NL(l)

SUML=SUML+L(1 , J)

CONTINUE

DLLOW=SUML/100.

IF(I.LEQ.l) THEN

DLMIN=DLLOW

DLMAX=DLUP

ELSE

IF (DLUP.LT.DLMAX) DLMAX=DLUP

| F(DLLOW.GT.DLMIN) DLMIN=DLLOW

END IF

CONTINUE

| F((DL.LE.DLMIN) .OR. (DL.GE.DLMAX) ) THEN

WRITE,*,15) DLMIN,DLMAX

FORMAT(IX,'SHOULD CHANGE NEW DL VALUE'/
IX,'IT SHALL BE' K6 F10.6,'< DL <', F10.6)

GO TO 25

END IF

WRITE,*,*) 'READ O.K.'

CALL VIEW

RMDUM=A(1)* 3

NVA=0

DO 100 1=1,6

SUML=0.

DO 200 J=1,NL(l)

SUML=SUML+L(1 , J)

CONTINUE

PR=SUML/DL

IF(PR?GT.NPR) THEN
MT(1)=NPR+2

MT(1)=NPR+1

NVA=NVA+MT(1 )
CONTINUE

NVA=NVA+1L

DO 120 1=1,NDT

DO 130 J=1,24
TAK(1,J)=TAT(1,J)+273.15
TRK=TRT+273.15

CONTINUE
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400
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1000
900
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1100
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1200

2000

2100

CONTINUE
DO 300 1=1, 6

DO 400 J=1,MT(l)
IFII.EQ.6) THEN
TP(I,J)=TRK

ELSE

TP (1,J)=TAK(1,1)

con™

CONTINUE
TVOP=TAK(1,1)
ND=NSD-1
L0O=3600./DTI
NLO=LO
IF(LO.GT.NLO) NLO=NLO+
Qr=0.

DO 500 1=1,NDT
ND=ND+1

QD=0 .

DO 600 J=1,24
SUMDT1=0.

QH=0 .

DO 700 IK=1,NLO
IF(IK.EQ.NLO) THEN
DTIDUM=DTI
DT1=3600.-SUMDTI
END IF
3UMDTI=SUMDTI+DTI
IF((I.EQ.1).AND.(J.EQ.1)) THEN
1IG=IGT(1,1)
ID=IDT(1,1)

TA=TAK (1,1)

IF(.J.EQ.l) THEN
IG=(IGT(1-1,24)*(3600.-SUMDTN+IGT(I,1)*SUMDTI)/ 3600.
ID=(IDT(1-1,24)*(3600.-SUMDTI)+1DT(I ,1)*SUMDTI)/ 3600.
TA=(TAKII-1,24)*(3600.-SUMDTI)+TAK(I ,1)* SUMDTI)/ 3600.
ELSE
IG=(IGT(1,J-1)*(3600.-SUMDTI+IGT(I,J)* SUMDTI)/ 3600.
ID=(IDT d,J-1)* (3600.-SUMDTN+IDT(I,J)* SUMDTI)/ 3600.
TA=(TAK(1,J-1)*(3600.-SUMDTI)+TAK(I , J)* SUMDTI)/ 3600.
END IF

END IF

TR=TRK

VMDUM-VMT

ST=J-1.+SUMDTI/ 3600 .

CALL SOLAR

CALL NEWRAP

IF (z.EQ.0.) GO TO 800

QDTI=H(6,1)*A(6)" (T(6,1)-TR)*DTI

DO 900 IL=1,6

DO 1000 IM=1,MT(IL)

TP (IL, IM)=T(IL, IM)

CONTINUE

CONTINUE

TVOP=TVO

QH=QH+QDTI

i F(IK.EQ.NLO) DTI=DTIDUM

CONTINUE

DO 1100 IN=1,6

TT (1, J,IN,1)=T(IN,1)-273.15
TT(,J,IN,2)=T(IN,MT(IN))-273.15

CONTINUE

TVOT(1,J)=TVO-273.15

QHT(1,J)=QH

QD=QD+QH

CONTINUE

QDT(I )=QD

QT=QT+QD

CONTINUE

WRITE(8,1200)

FORMAT(IX ,” OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER' /,
* IX, THROUGH FLAT ROOF SYSTEM ')

ND=NSD-1

DO 1300 1=1,NDT

ND=ND+1

WRITE(8,2000)

FORMAT(IX ,’-RATE OF HEAT TRANSFER PER HOUR)

FORMAT(lx ,"QHT(",23,",",12,")=",E12.4,1X,"J/HR.")
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1400 CONTINUE
WRITE(8, 2200)

2200 FORMAT(IX,-RATE OF HEAT TRANSFER PER DAY')
WRITE (8,2300) ND,QDT(l)

2300 FORMAT(IX,'QDT(',13,")=",EI2.4,Ix ,'J/DAY")

1300 CONTINUE
WRITE(8,1850) QT

1850 FORMAT(IX ,'-TOTAL HEAT TRANSFER THROUGH ROOF SYSTEMY,
* IX,'='" E12.4,1X,'3")

800 WRITE(8,1900)

1900 FORMAT(IX ,' TEMPERATURES ARE DIVERGE")
STOP
END

SUBPROGRAM (ELIMINATE THE COMMENT ON THE INPUT FILE.
"<" AS A BEGINING SIGN OF COMMENT AND ">"
AS THE END.)

OO0 o0o0

SUBROUTINE COMMEND 0
CHARACTER FIRST
100  READ(7,'(A)’) FIRST
IF (FIRST.EQ." ') GO TO 100
IF(FIRST.NE. '<') WRITE!*,*) 'INPUT ERROR
200 READ(7,'(A)") FIRST
IF (FIRST.NE.'>") GO TO 200

RETURN
END
c
c SUBPROGRAM (FIND ROOF AREA AND VIEW FACTOR)
C
c WI, 2, 3 DIMENSION OF ROOF
C A 1T ARF.A
c F  VIEW FACTOR
SUBROUTINE VIEW
DIMENSION A(6),F(6,6)
0 COMMON /LC1/W1, 2,W3/LC4/A,F
_FONIX,Y,P1)=(2./ (PI*X*Y)) * (ALOG(SQRT((1 .+X*X)* (1 +Y*Y)
1.+ X*X+Y*Y)) )+ X*SORT(I.+Y*Y)*ATAN(X/SQRT(1.+Y*Y))
* +Y*SQRT(L.+X*X)*ATAN(Y/SQRT(L,+X*X))
* -X*ATAN(X)-Y*ATAN(Y))
FPIJ(H, ,P1)=(1./(PI*W))*( *ATAN(1./W)+H*ATAN(1./H)
* -SQRT(H*H-W*W)*ATAN(1 ./SQRT(H*H+W*W))
* +(1./4 )*ALOG( ((L1,+W* ) *(1 . +H*H)/ (1 +W*W+H*H) )
* R (L AWWHHTH), (L. AWS ) * (F +HYH) ) )RR * )
* * (HAH*(L . AHHAWAW)/ (1, +H*H)* (HAHEWSW)) ) * * (H*H)))
Pl1=2.*ASIN(1.)
C -
A(1)=wi* 2
A(2)= 2* 3
A(3)=A(1)
A{4)=A(2)
A(5)-W1* 3
A(6)=A(5)
F{1,1)=0.
H= 3/W2
=WL/W2
F(1,2)=FPIJ(H, ,PI)
X=W1/W3
Y= 2/W3

F(1, 3) =FOIJ (X, Y, PI)
F(1,4)=F(1,2)

H= 3/wi1

= 2/w1

F11,5) =FPIJ(H, , PI)
F(l, 6)=F(1, 5)

F(2, 1)=A(1)*F(1,2)/A(2)
F(2,2)=0.

F(2,3) =F(2, 1)

x= 3/W1

Y= 2/w1

F(2,4)—FO0IJ (x,Y, Pl)
H=W1/W3

= 2/wW3

F(2,5)=FPI1J(H, , Pl
F(2,6)=F (2,5)

72



(¢}

O0O0O00000000O0O00O000O0O00O00OO0OO0O0

F(3,1)=F(1,3)
F(3,2)=F(1,2)
F(3,3)=c.

F(3,4)=Fil, 4}
F(3,5)=F(1,5)
F{3,6)=r !3,5)

FM, 1)=F(2, 1)
F(4,2)=F(2,4)
F(4,3)=F(2,3)
F(4,4)=3.

F(4,5)=F(2,5!
F(4,6)=F(4,5)

F(5,1)=A(1)*F;1, 5)/A(5)
F<5,2)=A(2)*F{2,5)/A(5)
F(5,3)=F(5, 1)
F(5,4)=F(5,2)

F (5, 5)=c.

x= 3/W2

Y=W1/W2
F(5,6)=FOI1J(X,Y,PI)

F(6,1)-F;5,1)
F(6,2)=F(5,2)
F(6,3)=F!5,3)

SUBPROGRAM .SOLA?. INTENSITY)

1 AA SURFACE AZIMUTH ANGLE
AX AXIS ANGLE
CO : VALUE OF COSINE OF INCIDENCE ANGLE
coz : VALUE OF COSINE OF ZENITH ANGLE
i DE DECLINATION
E EQUATON OF TIME CORRECTION
GS SOLAR RADIATION INTENSITY
HA HOUR ANGLE
1B BEAM RADIATION INTENSITY
1D DIFFUSE RADIATION INTENSITY
IG GOBAL RADIATION INTENSITY
LA LATITUDE
LL LONGITUDE OF LOCAL
LS : LONGITUDE OF STANDARD TIME
ND
RB
RD
RR
SL
ST

=

NUMBER OF DAY IN THE YEAR
BEAM RADIATION FACTOR
DIFFUSE RADIATION FACTOR
REFLECTED RADIATION FACTOR
s'lope
STANDARD TIME

SOT: SOLAR TIME

1
SUBROUTINE SOLAR
DIMENSION GS(5),AA!4)

common” 'LC2/L.~~L1"-S, ax, /[LC5/ST, ND, IG, ID, /LC6/GS
Pl1=2.*ASINil.",

RA=PI1/130.

DG=180./PI

ILA=LA

DEC=LA-ILA

LA=ILA+DEC/0.60

DE=23.43'SIN<35 .’ ,284.+ND)*RA/365 .)*RA



E=229.2*(0.000075+0.001868*COS(B)-0.032077*SIN(B)
*  .0.014 615*COS(2.*B)-0.04089*SIN(2.*B))

ILL=LL

DEC=LL-ILL

LL=ILL+DEC/0.60

A 0.60
SOT=ST+(4 .*(LL-LS)+E)/ 60.
HA=(SOT-12.)*15 .*RA

DO 100 1=1,4

AAI=AA(I)

CO--SIN(DE)*COS(LA)*COS(AAI)

*  +COS(DE)*SIN(LA)*COS(AAI)*COS(HA)

*  +COS(DE)*SIN(AAI)*SIN(HA)

IF (CO.LT.0.) CO=0.

COZ=SIN(DE)*SIN (LA)+COS(DE)*COS(LA)*COS(HA)
IB=1G-1D

RB=CO/COZ

IF(RB.LT.0.) RB=RB*(-1.)

RD=1./2.

RR=0.2/2.

GS(1)=IB*RB+ID*RD+(IB+ID)*RR

100 CON]\I\?
[

END

W)
| SUBPROGRAM (NEWTON-RAPHSON METHOD)

SUBROUTINE NEWRAP
_DIMENSION NL (6) , L (6, 10) . K(6, 10) , DEN(6, 10),C(6,10),RE(6),H(6,2),
E(6, 2),A(6) , F(6, 6) ,GS (5) ,MT (6) , T(6, 100) , TP (6,100),

* FT(600),DT(600)

REAL L,K

COMMON Z/LC3/NL,L,K,DEN,c,RE,H,E,DL,DTI/LC4/A,FILC6/GS
/LC7/MT,NVA/LC8/TA,TR,VM,RM,VMDUM,RMDUM/LCY/T,TP,TVO, TVOP

* /LC10/FT/LC11/DT

DO 100 1=1,6

DO 200 J=1,MT(l)

S Ty pii's
0  CONTINUE
TVOQ=TVOP

z

DO~3C)0 1=1,100

CALL FTATDT

DO 600 IK=1,NVA

IF(ABS(DT(IK)).GT.0.001) GO TO 700
00 CONTINUE

zz=727+

IF(zz.LT.2.) GO TO 700

RETURN
00 ISUM=0

i (190EQII00;MWMTE(8,*) «T(e,IL, "'1',IM, ")=1,T(IL, IM) , *K’
IF(1.EQ.100) WRITE(8,*) ’'DT=m,DT(ISUM+IM)
IF(ILEQ.I00) WRITE(8,*) 1FT=1, FT(ISUM+IM)
T(L, IM)=T(IL,IM)-DT(ISUM+IM)

§00  CONTINUE
ISUM=ISUM+MT(IL)

€00  CONTINUE
IF(I.LEQ.I00) WRITE(8, *) 'TVO=', TVO, 'K1
IF(I.LEQ.I00) WRITE(8,*) 'DT=', DT(NVA)
I F(I .EQ.100) WRITE(8,*) 1FT=', FT(NVA)
TVO=TVO-DT(NVA)
IF(I.LEQ.I00) THEN
z=0.
ELSE

END IF
00 CONTINUE
RETURN
END

[on[ow

| SUBPROGRAM (FIND FT,AT AND DT VALUE)

SUBROUTINE FTATDT
DIMENSION NL(6) ,L(6, 10) , K(6, 10) , DEN(6, 10),C(6,10),RE(6),H(6,2),
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E(6, 2) ,A(6) , F(6, 6) ,GS(5) ,MT(6) ,T(6,100) , TP(6,100),
FT(600),DT(600),VJ(6),AT(600,600),BT(600)

REAL LK
L 3 NL,L K DEN,c,RE.H.E DL DTI/LC4/AF

?t b AR e gp oo
*8

FT(MSUM+1) = (1 . -RE (1) )*A(1)*G S (1)
# (1, ) *A(1) * (T, 2)-T (1, 1) )/DL
+H (1, 1)*A ()*(TA-T(1,1))
+E(1, 1) *A(1)*SB*(TS**4.-T (I,1)**4 .)
-DEN (I, 1) *c (I, 1) *A<X)* (DL/2.)* (T (I, 1) -TP (I, 1) )/DTI
AT(MSUM+1,MSUM+1)=-K(1, 1)*A(1)/DL-H (I,1)*A(l)
<4 *E(1,1)*A(1)*SB*T(I,1)**3.
-DEN(I,1)*C (1,2)*A (1)* (DL/2.)/DTI
AT(MSUM+1,MSUM+2)=K(I,1)*A (1)/D L

DL2-DL-L(I,1)
IF(L(l,1).GE.DL2) THEN
FT(MSUM+1)=(1.-RE(I))*A(1)*G S(I)
FA)*(T(1,2)-T(1,2))/(L(1,2)/K(I,1)+DL2/K(I,2))
+HLLD)*A(D)* (TA-T(1,1))
+E(, 1)’A(1)*SB*(TS**4.-T (1,1)**4 .)
-DEN(L,1)*c (1,1)*A(1)*(DL/2.)*(T(1,1)-TP(1,1))/DTI
AT(MSUM+1, MSUM+1)=-A (1 )/ (L(1,1)/K(l,1)+DL2/K(1,2))-H(l,1)*A(l)
-4 FE(1L,L)*A()*SB*T (I,1)**3.
-DEN(I,1)*C (I,1)*A (1)* (DL/2.)/DTI
AT(MSUM+1, MSUM+2) =A(1 )/ (L (1 ,1)/K (1,1)+DL2/K (I ,2))
ELSE
FT(MSUM+1)=(1.-RE(I)) *A(1)*G S(I)
+A()*(T,2)-T(,12))/(LU,1)/K(1,1)+DL2/K(1,2))
+H((L,L)*A()* (TA-T(I,1))
+E(1,1)*A<X) *SB*(TS**4.-T (1,1)**4.)
- (DEN (I, 1yxc (1, 1) *L (1, 1)
+DEN (1, 2) (I, 2) * (DL/2 .-L (I, 1)))
*A ()X (T(l,i)-TP(1,1))/DTI
AT(MSUM+1,MSUM+1)=-A(l)/ (L(I,1)/K(l,1)+DL2/K(1,2))-H(l,1)*A(l)
-4 FE(1L,L)*A()*SB*T(1,1)**3.
S(DENC(I,D)*C (1, 1)y*L(1,i)
+DEN(1 ,2) c(I,2)*(DL/2.-L(1,1)))*A(1)/DTI
ATISMSUM+1,MSUM+2)=A(|)/(L(I,1)/K(|,1)+DL2/K(1,2))

END IF

END IF
Eh&'u&mﬁ% )

o i

AT(MSUM+1,MSUM 1)_-D-E

AT(MSUM#L, MSUMt2) =K(T, f

>

L/2.)*(T(I,1)-TP(I,1))/DTI
( “3\{' 2.)IDTI

if(mi; inge'dIZ) then
FT(MSUM+1) A(D*(T(1,2)-T(1,1))/ (L(1,1)/K(1,1)+DL2/K(I ,2))

+H (I, 1) *A (1) * (TR-T (1, 1))
* SDEN(1,1)*C (1,1)*A(1)* (DL/2.)*(T(1,1)-TP(1,1))/DTI
AT (MSUM+1, MSUM+1) =-A (1 )/ (L(1, 1) /K (1, 1) +DL2/KU, 2) )-H (1, 1) *A (1)
* -DEN(I,1)*c (1,1)*A (1)* (DL/2.) /DT
AT(MSUM+1,MSUM+2)=A(1) / (L (1,1)/K (1,1)+DL2/K (I ,2))

FT(MSUM+1)=A(I)* (T(1,2)-T(1,1))/ (L(I,1)/K(I,1)+DL2/K(1,2))
+H (1, 1) *A (1) * (TR-T (I, 1))
- (DEN (I, 1) *c (I, 1) *L (1, 1)
+DEN(1,2) C(I1,2)*(DL/2.-L(1,1)))
*A (1)* (T(1,1)-TP(1,1))/DTI
AT(MSUM+1 MSUM+1)=-A(1)/ (L(1,1)/K(1,1)+DL2/K(1,2) )-H(1,1)*A(l)
- (DEN (1, 1) *c (I, 1) *L (I, 1)
* +DEN(I,2)*c (1,2)*(DL/2.-L(1,1)))*A(1)/DTI

* ok ok ok
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AT(MSUM+1, MSUM+2) =A{l )/ (L (1,1)/K(1,1)+DL2/K(I,2))
2ND IF
END IF
END IF

IF(MT(1).GT.3) THEN
DO 200 M=2,MT(l)-2
SUML—0.
DO 300 IM=1,NL(l)
SUML=SUML+L(I,IM)
IF(SUML.GE.DL*(M-I)) THEN
J=IM
DL2=DL*(M-I)- (SUML-L{l , IM))
DL3=SUML-DL*(M-I)
GO TO 310
END IF
30C  CONTINUE
310 IF(DL2.GE.DL) THEN
IF(DL3.GE.DL) THEN
_FT (MSUMM) =K (1,0)*A ()*(T(1,M+1)+T(1,M-1)-2.*T(I,M))/DL
SDEN(1,3)*C (1,d)*A(1)*DL*(T(I,M)-TP (X,M))/DTI
AT (MSUM+M,MSUM+M-1) =K (1, J)*A (1) /DL
_AT(MSUM+M,MSUM+M)=-2. *K (113) *A(1 ) /DL
-DEN (1,J)*C (1,J)*A(1)*DL/DTI
AT (MSUM+M,MSUM+M+1) =K (1 , J)*A (1)/D L

DL4-DL-DL3
IF(DL3.GE.DL4) THEN
_FT(MSUM+M)=K(1L9)*A (1) * (T (1,M -1)-T (1,M)) /DL
A (L)% (T{,M+1)-T(I,M) }/ (DL3/K(1,3) +DLA/K(I,J+1))
* -DEN (I, J) *C (1, J)*A(1)*D L*(T(I,M) -TP (1,M) )/DTI
AT(MSUM+M,MSUM+M-1)=K (I, J)*A(1)/D L
_AT(MSUM+MMSUMM)=-K (1 , ) *A (1) /DL-A(1 ) I (DL3/K (I, 3)+DLA/K (1, I +1))
-DEN(I, 3)*c(1,3)*A(1)*DL/DTI
AT(MSUM+M,MSUM+M+1)=A(l') / (DL3/K(1,J)+DLA4/K(1,J+1))
ELSE
FT(MSUM+M)=K(I,3)*A(1) * (T(I,M -1)-T (1,M)) /DL
FAM*(TUM+1)-T(I1,M))/ (DL3/K(1,3)+DLA/K (I ,I+1))
- (DEN (I, J) *¢ (I, J) * (DL/2 . +DL3)
+DEN(I,J+1)*c(l,J+1)* (DL/2.-DL3))
*A(1)*(T(,M)-TP(I,M))/DTI
AT(MSUM+M,MSUM+M-1)=K (1,J)*A (I ) /DL
_AT(MSUM+M,MSUM+M)=-K(19)*A(1 ) /DL-A(1 )/ (DL3/K(I , 3)+DLA/K (1,3 +1))
-(DEN (I, J) *c (I, J) * (DL/2 .+DL3)
* +DEN(I,J+1)*c(1,dJ+1)* (DL/2.-DL3))*A(1)/DT]I
AT(MSUM+M,MSUM+M+1)=A(1 ) / (DL3/K(1,d)+DL4/K (1, +1))

* % ok ok

]
IF(DLI.GE.DL2) THEN
| F(DL3.GE.DL) THEN
FT(MSUM+M)=A(1 ) * (T (I ,M-1)-T (I ,M))/ (DL1/K( ,J -1)+DL2/K(I,J))
+K (1, 3) *A(1) * (T (1, M+]) -T (1, M) )/DL
-(DEN(I,J-)*c(l,d-1) (DL/2.-DL2)
+DEN(I, J)*c (1,J3)* (DL/2.+DL2) )
*A(1) * (T (1,M) -TP (I,M) )/DTI
AT(MSUM+M,MSUM+M-1)=A(1 ) / (DL1/K(l ,J -1)+DL2/K(I ,J))
_AT(MSUM+M,MSUM+M)=-A(I) / (D LI/K (1, J-1)+DL2/K(1,3))-K (1,3)*A(l)/DL
- (DEN(I,J-1)*c (1,3 -1)* (DL/2.-DL2)
* +DEN(1,3)*c(1,J)* (DL/2.+DL2))*A(1)/D T
AT (MSUM+M,MSUM+M+1) =K (1 , J)*A (I | /DL

* ok k%

DL4-DL-DL3
FT(MSUM+M)=A(1)* (T (1 ,M-1)-T(I,M) )/ (DLI/K (I ,J-1)+DL2/K(l ,J) )
+A()*(TUM+1)-T(I,M) )/ (DL3/K(l,J)+DLAIK(I, J+1) )

-(DEN(I,J-)*c(1,J-1)*(DL/2.-DL2)

+DEN(I,J1*c (1,3)* (DL/2.+DL2))

*A (1) *(T(1,M)-TP(I,M))/DTI
AT(MSUM+M,MSUM+M-1)=A(1) / (DLI/K (1,3 -1)+DL2/K(l, J) )
_AT(MSUM+M.MSUM+M)=-A (1 )/ (DL1/K(1, J-1)+DL2/K (1,))

A1)/ (DL3/K(1,3)+DL4A/K(I,d+1))

* % ok

* - (DEN(I,J-1) m*C(l,d-1)* (DL/2. -DL2)

* +DEN(I,J)*c (1,3)* (DL/2.+DL2))*A (1) /DTI
AT(MSUM+M,MSUM+M+1)=A(1 ) / (DL3/K(l , J)+DLA4/K(l ,J+1))

END IF

IF(DL3.GE.DL) THEN

_FT(MSUM+M)=A()* (T(1,M 1) T (1,M )i/ (DL1/K(1,3-1)+DL2/K(1,3))
+K (1, ) *A (i * (T (1, M+)-T (1,M) )/ DL

* “DEN(1,3) ¢ (1,3)*A(I)*DL* (T(I.M)-TP(1,M))/DTI



AT (MSUM+M,MSUM+M-1)=A(l) / (DL1/K(I,J-1)+DL2/K(l, J))
_AT(MSUM+MMSUM+M)—A (1 )/ (DLL/K (I, J-1)+DL2/K (1,3))-K (I, J)*A(1)/DL
-DEN(I, J) *c (I, J) *A(l) +DL/DTI

AT(MSUM+M,MSUM+M+1)=K (1 , J)*A{l ) /DL

DL4-Dlj- DL3

IF(DL3.GE.DL4) THEN

_ET(MSUM#M)=A(1 ) * (T (1, M-11-T (I,M) )/ (DL1/K(I,3-)+DL2/K(1,J) )
+A) 5 (T, M+1)-T (1, M)/ (DL3/K(1,d)+DLA/K(I,I+1))

* SDEN(1,3)%c(1,d)*A(1)*DL*(T(I,M)-TP(I,M))/DTI

AT(MSUM+M,MSUM+M-1)=A(1 ) / (DLL/K(1,d-1)+DL2/K (I, J))

_AT(MSUM+M,MSUM+M)=-A(1) / (DLL/K(1,J - 1) +DL2/K(I ,}) )

-A(1)/(DL3/K(l ,J)+DLA4/K (1,J+1))
* -DEN(I, J)*c(1,J)*A(1)+DL/DTI
AT(MSUM+M,MSUM+M+1)=A(1) / (DL3/K(1,3)+DL4/K(1,JI+1))

FT(MSUM+M)=A(1 ) * (T(I,M -1)-T(I,M))/ (DL1/K(1,3-1)+DL2/K(1,3))
+A()* (T(LM+1)-T(I,M))/ (DL3/K(I,J)+DLA4/K(I,I+1))
- (DEN (I, J) *c (1, J) * (DL/2 .+DL3)
+DEN(I,J+D)*c(1,J+1)* (DL/2.-DL3))
*A (1) * (T (I,M!-TP (I,M) )/DTI
AT(MSUM+M,MSUM+M-1)=A(1 ) / (DLL/K (I , 3 - 1) +DL2/K(l , J) )
_AT(MSUM+M,MSUM+M)=-A(1') / ; DLI/K (I, J - 1) +DL2/K (1, 1))
A (1)/ (DL3/K(1.3)+DLAIK(I,3+1) )
* - (DEN (I, J) *c (I, J) * (DL/2 .+DL3)
* +DEN(, J+1)*c(1,J+1)* (DL/2.-DL3))*A(1)/DTI
AT(MSUM+M,MSUM+M+1)=A(li/ (DL3/K (1, J)+DL4/K (1,3 +1))
END IF
END IF
END IF
END IF
203  CONTINUE
END IF

EREE

SUML=0.

DO 32 IL=1,NL(l)
SUML=SUML+L(I , IL)
IE ((SUML.GE.DL*(MT(1)-2);.AND.(ZZ.EQ.0.)) THEN
J-IL
zz=zz-l .
END IF
320  CONTINUE
DLDUM=SUML-DL*(MT( 1) -2!
DL3=DLDUM
M=MT ;1 ;-1
IE(L(1,NL(1)).GE. (DL+DL3) ) THEN
FT (MSUM+M) =K (1, 3) *A (1) + (T (I, M-1) -T (I, M) ) /DL
* +K(1,3)*A(D)* (T(I,M+1)-T (1,M))/DL3
* -DEM(l, 3)*c (1,3)*A (1)*( (DL+DL3)/2.)
* *(T(I,M)-TP(1,M))/DTI
AT(MSUM+M,MSUM+M-1) =K (1,J3)*A (1)/D L
_AT(MSUM+M,MSUM+M)=-K(I , J)* A (1)* (1/DL+1/DL3)
SDEN(1,3)*C (1,3)*A(1)* ((DL+DL3)/2 .)/DTI
AT(MSUM+M,MSUM+M+1)=K (I , J)*A (I ) /DL3
ELSE
IE(L(I,NL{l)).GE.DL3) THEN
DL2=L(I,NL(l))-DL3
DL1=DL.-DL2
IF(DL1.GE.DL2) THEN
FT(MSUM+M)=AIT ) * (T(I ,M -11-T (I,M) )/ (DL1/K(l ,J -1)+DL2/K(l,J) )
+K(1,3) A(D)*(T (I, M+1)-T (I ,M) )/DL3
-(DEN(I,J-I)*c(I,3-1)* (DL/2.-DL2)
+DEN(I1,d)*c(l,J)* (DL2+DL3/2.) |
*A(1)* (T(1,M)-TP(I,M))/DTI
AT(MSUM+M,MSUM+M-1)=A(1 )/ (DLL/K (1 ,J -1)+DL2/K(l, J) )
_AT(MSUM+M,MSUM+M)=-A(l) / (DL1/K(I,3-1)+DL2/K(l, 3) )-K (1,3)*A (1)/DL3
-(DEN(I,J-1)*c(1,3-1)* (DL/2.-DL2)
* +DEN (1,J)*C (1,3)* (DL2+DL3/2.))*A (1) /DTI
AT(MSUM+M,MSUM+M+1)=K (1 , J)*A (1) /DL3

* ok % K

_FT(MSUMHM)=A() * (T (I, M-1)-T (1, M))/ (DLL/K(1, J -1)+DL2/K(1,3))
+K(1L,LI)*A () *(TO,M+1)-T(I,M)!/DL3

* -DEN (1,3)*C (1,J)*A (1)*( (DL+DL3) /2.)

* *(T(1,M)-TP(1,M))/DTI

AT (MSUM+M,MSUM+M-1}=A(1)/ (DL1L/K (1 ,J-1)+DL2/K (1 ,J))

AT(MSUM+M,MSUM+M)=-A(1)/ (DL1/K(1,J-N+DL2/K(1,3))-K(,J)*A(l)/DL3

* SDEN(I,3)*c(1,3)" A (1)* ({DL+DL3)/2.)/DTI

AT(MSUM+M,MSUM+M+1) =K (1 , J)*A (1) /DL3

END IF

ELSE



DL3=DL3-L(I,NL(l))

DL4=L(I,NL(l))

| F(DL3.GE.DL4) THEN

IF(L(I,NL(1)-1) .GE. (DL+DL3)) THEN

FT (MSUM+M) =K (1, J) *A(X)* (T (I, M-1) -T (1,M) ) /DL

* +AM)*(TU,M+D)-T(1,M))/ (DL3/KU, J)+DLA/K < ,J+1))
* -DEN(I,3)*C(1,J)*A(1)*((DL+DL3+DL4)/2.)
* *(T(I,M)-TP(I1,M))/DTI

AT(MSUM+M/MSUM+M-1)=K (I, J)*A (1)/D L

AT(MSUM+M,MSUM+M)=-K (I, J)*A (1 )/DL-A(1)/ (DL3/K(1,3)+DL4/K(I ,J+1))

* -DEN (1,3)*c(1,d)*A(1)* ((DL+DL3+DL4)/2.)/DTI

AT(MSUM+M,MSUM+M+1) =A(1 )/ (DL3/K(1,J)+DL4/K (1,3 +1))

ELSE

DLI—(DL+DL3)-L (I ,NL(l)-1)

DL2=DL-DL1

IF(DLI.GE.DL2) THEN

FT(MSUM+M)=A()* (T(1,M-1)-T (1,M))/ (DL1/K(1,J - 1)+DL2/K(1,J))
+A()*(TOLM+1)-T(1,M))/ (DL3/K(I, J)+ DLA/K {I ,J+1))
S(DEN(I1,d-I)*c(1,J-1)*(DL/2.-DL2)
+DEN(I,J)*c(1,J)* (DL2+(DL3+DL4)/ 2.))
*A(1)* (T(I,M-TP (I, M) )/DTI

AT(MSUM+M,MSUM+M-1)=A (1)/ (DL1/K(l,J -1)+DL2/K(1,J))

AT(MSUM+M,MSUM+M)=-A(1)/ (DLL/K(I,J -1)+DL2/K(I,J))

EEE Y

* “A(1)/ (DL3/K(1,J)+DL4IK(1,3+1))
* -(DEN(I1,J-1)*C (1,d-1)* (DL/2.-DL2)
* +DEN(I1,J)*c(l, J) * (DL2+(DL3+DL4)/ 2.)) *A(l )/DTI

AT(MSUM+M,MSUM+M+1)= A (1)/ ( DL3/K(1 , J)+DL4/K(1 , J +1))
ELSE
_FT(MSUM+M)=A()* (T (1,M -D)-T (1,M))
+A() +(T(LM+D)-T(,M)
* -DEN (1, J) *C (1,J)*A (i)*
* *(T(1,M)-TP(I,M))/DTI
AT(MSUM+M ,MSUM+M-1)=A(1)/(DLI/K (1 ,3-1)+DL2/K(l,J))
AT(MSUM+M,MSUM+M)=-A(1)/ (DLL/K(l,J-)+DL2/K(I,J))
* -A (1) / (DL3/K (I, J) +DLA/KH, J+1) )
* DEN(I,3)*c(1,3)*A (1)*((DL+DL3+DL4)/2 .)/DTI
AT(MSUM+M,MSUM+M+1) =A (1) / (DL3/K (I, J)+DL4/K (1, +1))
END IF
END IF
ELSE
IE(L(I,NL(1)-1) .GE. (DL+DL3)) THEN
FT (MSUM#M) =K (1, J) *A(1) * (T (I, M=1) -T (1,M) ) /DL
+A)* (TU,M+1)-T(1,M))/ (DL3/KI1,3)+DLA/K(I ,J+1))
- (DEN(1,3)*c(1,d)* (DL/2.+DL3)
+DEN(I1,J+1)*c(l1,J+1)* ((DL4-DL3)/2.))
*A(1) * (T (I,M) -TP (I,M) ) /DTI
AT(MSUM+M,MSUM+M-1) =K (1, J)*A (1 ) /DL
_AT(MSUM+M,MSUMM)=-K(I , J)*A (1) /DL-A(1)/ (DL3/K (1,3)+DL4/K(1,3+1))
- (DEN'(1,3)*C (1,J)* (DL/2.+DL3)
* +DENU, J+1) *C (I, J+1) * ((DL4-DL3) /2. ))*A(l) /DTI
AT(MSUM+M,MSUM+M+1)=A(I)/(DL3/K(I,J)+DL4/K(I,J+I))

/ (DLL/K(1,J -1)+DL2/K (1,3))
Y/ (DL3/K(1, J)+DL4/K (1,3 +1))
( (DL+DL3+DL4) /2.)

EE

DL1=(DL+DL3)-L < ,NL(l)-1)

FT(MSUM+M)=A(1 ) * (T(1 ,M -1)-T (1,M))/ (DLL/K(1,J-1)+DL2/K(I1,J))

* A () (TOIRR+1)-T(1,M))/ (DL3/K(I,J)+DLA4/K(I,I+1))
* - (DEN (I, J) (1, J) * (DL/2 .+DL3)

* +DEN(l,3+1)*c (i,3+1)* ((DL4-DL3)r2.))

* *A()*(TU,M)-TP(1,M))/DTI

AT(MSUM+M,MSUM+M-1)=A(1 )/ (DL1/K (1,d-1)+DL2/K(l, J) )
AT(MSUM+M MSUM+M)=-A(1 )/ (DLI/K (1,J-1)+DL2/K(I,J))
SA(1)/ (DL3/K(1,3)+DLA4/K (I, J+1))
* - (DEN (I, J) *c (I, J) * (DL/2 .+DL3)
* +DEN(I,J+1)*c(1,J+1)*((DL4-DL3)/2.))*A(1)/DTI
AT(MSUM+M,MSUM+M+1)=A(l)/ (DL3/K(1,J)+DL4/K(1,J+1))
END IF
END IF
END IF
END IF

J=NL(1)

M=MT(1 )

DL2=DLDUM

IF(L(I,NL(l)).GE.DL2) THEN

FT (MSUM+M) = K (1,3)*A (1)*(T (1,M -1)-T (1,M)) /DL2

* +H(1,2)*A (1) * (TVO-T(I,M))
* +E(1,2)*A()* (VI(1)-SB*T(I,M)**4 .)/(1.-E (1,2))
* SDEN(1,3)*c(1,d)*A(1)* (DL2/2.)* (T(I1,M)-TP(I,M))/DTI

AT(MSUM+M,MSUM+M-1)=K (1,j)*A (1)/D L2
AT(MSUM+M,MSUM+M)=-K(I , J)*A (1 ) /IDL2-H(I, 2)*A(1)
* <4 *E(1,2)*A()*SB*T(1,M)**3 ./(.-E (1,2))



100

400

500

600

000

* ok ok ok

*

*

*

* ok k%

*

*

*

-DEN(I,Jd)*c (I, J) *A(l) * (DL2/2.)/DTI
AT(MSUM+M,NVA)=H(1,2)*A(l)
ELSE
DLI—DL2-L(I,NL(1))
DL2=L(I ,NL(l))
IF (DLI.GE.DL2) THEN
FT(MSUM+M)=A(1 ) * (T(I,M-1)-T(I,M) )/ (DLI/K(l,Jd-1)+DL2/K(I ,J))
+H(1,2) A (1)* (TVO-T(I,M))
+E(1,2 ] *A(1)*(VI(1) -SB*T (I,M)**4.)/(l.-E (1,2))
-(DEN(I1,J-)*C (1,J-1)* ((DL1-DL2)/2.)
+DEN(I ,j) *c (I, 3)*DL2)*A (1) * (T(I ,M)-TP(l ,M))/DTI
AT(MSUM+M,MSUM+M-1)=A(1)/ (DL1/K(l ,J -1)+DL2/K(I,J))
AT(MSUM+M,MSUM+M)=-A(1)/ (DL1/K(l ,j- 1)+DL2/K(l,j))-H(I,2)*A(l)
-4 *E(1,2)*A(1)*SB*T(1,M)**3./(1.-E(1,2))
- (DEN (I, J-1) *c (I, J-1) * ((DL1-DL2) /2.)
+DEN(I, J)*c(1,3)*DL2)*A(1)/DTI
AT(MSUM+M,NVA)=H(1,2)*A (1)

FT(MSUM+M)=A(l ) * (T(I ,M-1)-T (I ,M))/ (DL1/K(I,J -1)+DL2/K(I ,J))
+H(1,2)*A(1)* (TVO-T(I,M))
+E(1L,2)*A(1)* (VI(1)-SB*T(I,M)**4.)/(1,-E(1,2))
-DEN (1, J) *C (1,J)*A (1)*( (DL1+DL2)/2.)
*(T(I,M)-TP(I,M) )/DTI
AT(MSUM+M,MSUM+M-1)=A(l )/ (DLI/K (I ,J -1)+DL2/K(l ,J))
AT(MSUM+M,MSUM+M)=-A(1)/ (DLI/K (I ,j- 1)+DL2/K(I,j))-H(l,2)*A(l)
-4 *E(1,2)*A(1)*SB*T(I,M)**3./(1.-E (1,2))
-DEN(I,j)*c (1,J)*A (1)*((DL1+DL2)/2 .)/DTI
AT(MSUM+M,NVA)«H(I ,2)*A (1)
END IF
END IF
MSUMEMSUM+M
CONTINUE

SUMVEN=0.

DO 400 1=1,6

SUMVEN=SUMVEN+H(1,2)*A (1) * (T (1 ,MT(1))-TVO)
CONTINUE

MSUM=MSUM+1
FT(MSUM)=SUMVEN+VM*CAV*(TA-TVO)-RM+CAR*(TVO-TVOP)/ DTI
ISUM=0

SUMAT=0.

DO 500 1=1,6

ISUM=ISUM+MT(l)

AT(MSUM,ISUM)=H(1,2)*A(l)

SUMAT=SUMAT-H(I ,2)*A(l)

CONTINUE
AT(MSUM,MSUM)=SUMAT-VM*CAV-RM*CAR/DTI
IF(MSUM.NE.NVA) WRITE(8,*) 'MSUM NOT EQUAL NVA MSUM=', MSUM
DO 600 1=1,NVA

BT(I)=FT(l}

CONTINUE

CALL GAUSSI(NVA)

RETURN

END

| SUBPROGRAM (FIND VM AND RM VALUE)

SUBROUTINE AIRMAS

DIMENSION T (6,100),TP (6,100)

COMMON /LC8/TA,TR,VM,RM,VMDUM,RMDUM
/LC9/T,TP,TVO,TVOP/LC12/CAV,CAR

DO 100 1-1,2

IF(1.LEQ.l) THEN

TEMP=TA

TEMP=TVO

END IF

IF(TEMP.GT.350.) THEN
DENAIR=0.9950-0.1239*(TEMP-350.)/50.
CAIR=1009.+5.*(TEMP-350.)/50.

IF (TEMP.GT.300.) THEN
DENAIR=1.1614-0.1664*(TEMP-300.)/ 50.
CAIR=1007.+2.*(TEMP-300.)/50.

IF (TEMP.GT.250.) THEN
DENAIR=1.3947-0.2333*(TEMP-250.)/50.
CAIR=1006.+1.*(TEMP-250.)/50.

ELSE
DENAIR=1.7458-0.3511*(TEMP-200.)/50.
CAIR=1007.-1.*(TEMP-200.)/50.
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END IF

END IF

END IF
IF(I.EQ.I) THEN
DENV=DENAIR
CAV=CAIR

DENR=DENAIR
CAR=CAIR
END IF

100  CONTINUE
VM=DENV* VMDUM
RM=DENR*RMDUM
CAV=(CAV+CAR)/ 2.
RETURN
END

SUBPROGRAM (FIND VJ VALUE)

VJ: RADIOSITY

OO0 000

SUBROUTINE JVALUE

_DIMENSION NL(6),L1(6,10),K(8,10), DEN(6, 10),C(6,10),RE(6),H(6,2),
E(6,2),A(6),F(6,6),MT(6),T(6,100),TP(6,100),

* VJ (6) ,AJ (6, 6) , BJ (6)

REAL L,K

COMMON /LC3/NL,L,K,DEN,c,RE,H,E,DL,DTI/LC4/A,F

* /LC7IMT, NVA/LCO/T,TP,TVO,TVOP/LC13/VJ/LC15/AJ,BJ

SB=5.67/10." 8.

IF(J.NE.I)'AJ(1,3)=-(1.-E (1,2))*F (1, J)
200  CONTINUE
AJ{l,1}=1.
BJI(1)=E(1,2)*SB*T(I,MT(l))**4.
100  CONTINUE
CALL GAUSS2(6)
RETURN
END

C | SUBPROGRAM (GAUSS ELIMINATION)
|

[g]

SUBROUTINE GAUSS1(N)
DIMENSION A (600,600),B(60C) , X (600)
COMMON /LC11/X/LC14/A,B
CALLSCALE1(N)

DO 100 1=1,N-I

CALL PIVOTL(N,I)

DO 200 J=I1+1,N

RATIO=A 1J, 1) /A (I, 1)

DO 300 K=I+1,N

AQ, 1) =0.

A(J,K)=A(J,K) -A(1,K) * RATIO

300  CONTINUE
B(J) =B (J) -B (1) ‘ RATIO

200  CONTINUE

100  CONTINUE
X(N)=B(K) /A (N, N)

DO 400 L=N-1,1,-1
SUM=0.

DO 500 M=L+1,N
SUM=SUM=A(L,M)*X(M)

500  CONTINUE
X () =(B (L) -SUM) /A (L, L)

400  CONTINUE
RETURN
END

C | SUBPROGRAM (PERFORM SCALING FOR GAUSS ELIMINATION)

SUBROUTINE SCALEZL(N)
DIMENSION A(600,600),B (600)
COMMON /LC14/A,B
DO 100 1=1,N
AMAX=ABS(A(l,1))

DO 200 J=2,N
AOTH=ABS(A(l1,J))
IF(AOTH.GT.AMAX) AMAX=AOTH

200  CONTINUE
DO 300 M=1,N
A(l,M=A (I, M) /AMAX
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300  CONTINUE
B(I)=B (I ) /AMAX
100  CONTINUE
RETURN
END

c | SUBPROGRAM (PERFORM PARTIAL PIVOTING FOR GAUSS ELIMINATION) |

SUBROUTINE PIVOTI(N,I)
DIMENSION A (600,600), B (600)
COMMON /LC14/A,B
J=I
AMAX=ABS(A(I,1))

DO 100 K=I+1,N
AOTH=ABS(A (K,1))
IF(AOTH.GT.AMAX) THEN
AMAX=AOTH

J=K

END IF

100  CONTINUE
IF(J.NE.I) THEN
DO 200 L=I,N
DUMY=A(J , L)
A(J,L)=A(l,L)
A(l,L)=DUMY

200  CONTINUE
DUMY=B(J)

B(J)=B(l)
B(I)=DUMY
END IF
RETURN
END

o0

i SUBPROGRAM (GAUSS ELIMINATION)

SUBROUTINE GAUSS2(N)
DIMENSION A (6, 6) , B(6) , X (6)
COMMON /LC13/X/LC15/A,B
CALL SCALE2(N)

DO 100 1=1,N-|

CALL PIVOT2(N,I)

DO 200 J=1+1,N
RATIO=A(J,1)/A(1,1)

DO 300 K=I+1,N

A(j  K) =A(J, K) -A (I, K) *RATIO
300  CONTINUE
B(J) =B (J) -B (I ) *RATIO
200  CONTINUE
100  CONTINUE
X (N) =B (N) /A (N, N)
DO 400 L=N-1,1,-1

DOM500 M=L+1,N

SUM=SUM+A(L,M)*X(M)
500  CONTINUE

X (L) = (B (L) -SUM) /A (L, L)
400  CONTINUE

RETURN

END

C | SUBPROGRAM (PERFORM SCALING FOR GAUSS ELIMINATION)

SUBROUTINE SCALE2(N)
DIMENSION A(6,6),B (6)
COMMON /LC15/A,B
DO 100 1=1,N
AMAX=ABS(A{l ,1))

DO 200 J=2,N
AOTH=ABS(A (1 ,J))
IF(AOTH.GT.AMAX) AMAX=AOTH

200  CONTINUE
DO 300 M=1,N
A (1, M)=A(l , M)/AMAX

300  CONTINUE
B(1)=B(l ) /AMAX

100  CONTINUE
RETURN
END

| |
| SUBPROGRAM (PERFORM PARTIAL PIVOTING FOR GAUSS ELIMINATION) |

0o



200

SUBROUTINE PIVOT2(N,1)
DIMENSION A(6, 6) ,B(6)
COMMON /LC15/A, B

J=I

AMAX=ABS(A (I , 1))

DO 100 K=I+1,N
AOTH=ABS(A (K, 1))
IF(AOTH.GT.AMAX) THEN
AMAX=AOTH

sis *
IF(J.NE.I) THEN
DO 200 L=I,N
DUMY=A(J , L)
A(J,L)=A(I,L)
A{l ,L)=DUMY
CONTINUE
DUMY=B(J)
B(J)=B(l)
B(1)=DUMY
END IF
RETURN

END

82



PRO1F

«INPUT DATA FOR CALCUTATE HEAT TRANSFER THROUGH
FLAT ROOF SYSTEM

<ROOF DIMENSION (m.)
Wi, 2, 3

10,0.5,20
«LOCATION OF ROOF (degree.minute)
LA,LL,LS

13.10,100.37,90
«ANGLE OF AXIS OF ROOF,AX (degree.minute)

0

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 1
NL (1!

>

1
«MATERIAL PROPERTIES OF ROOF,SIDE 1

THERMAL CONDUCTIVITY, K (W/m.K)
DENSITY,DEN (kg/cu.m.K)
SPECIFIC HEAT,c (J/kg.K)

>

1.310

2243

879

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 2
NL (2)

>

«MATERIAL PROPERTIES OF ROOF,SIDE 2
THECKNESS, L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,C (J/kg.K)

0.

1.310

2243

879

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 3
NL (3!

>

1

«MATERIAL PROPERTIES OF ROOF,SIDE 3
theEkness,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,C (J/kg.K)

1.310
2243

«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 4
NL (4)
>

«MATERIAL PROPERTIES OF ROOF,SIDE 4
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,c (J/kg.K)

0.

SC
879
«NUMBER OF MATERIAL LAYER OF ROOF,SIDE 5
NL (8"

«MATERIAL PROPERTIES OF ROOF,SIDE 5
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)
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84

SPECIFIC HEAT,c (J/kg.K)

0.15

1.298

2243

921

<NUMBER OF MATERIAL LAYER OF ROOF,SIDE 6
>Nl_ (6)

2

«MATERIAL PROPERTIES OF ROOF,SIDE 6
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,C (J/kg.K)

0.01,0.05
0.10,0.045

801,16

1089,837
«REFLECTIVITY,RE(I)

0.4,0.4,0.4,0.4,0.4,0.4
«%T)TVﬁCTION HEAT TRANSFER COEFFICIENT (W/sq.m.)
1

H(1,2)

20,20,20,20,20,20
10,10,10,10,10,10
«EMISSIVITY

Ed, 1)

Ed,2)

0.88,0.88,0.88,0.88,0.88,0.91
«DISANT8between'NODE,'DL" <rr.)

0. 049
«STEP TIME,DTI (sec.)
>

1800
«ROOM TEMPERATURE,TR (C)

25
«VENTILATION VOLUME,VMT (cu.m./sec.)

0

«DURATION TIME (dd,mm)
SDD,SMM
FDD,FMM

>

1,6

«GLOBAL RADIATION,GIT(1,) (W/sq.m.)
0,0,0,0,2.78,5.56,158.3,397.22,611.11,850,961.11,1025,1019.44,961.11,813.88,655.55,32
4.44,210.56,50,0,0,0,0,0

«DIFFUSE RADIATION,DIT(1,J) (W/sq.m.)
0,0,0,0,0,0,19.44,63.89,119.44,161.11,183.33,213.89,219.44,211.11,169.44,138.89,86.11
,38.88, 5.56, 0,0,0,0, 0

«AMBIENT TEMPERATURE (C)

27,26.9,26.8,26.8,26.7,26.9, 27.4,28.4,30.1,31.5,32.4,33.5, 34.8, 35.3,35,33.5, 32.5,31.3
,30 9,30.6,30.5,30.3,29.7,30.5



PRO1F

OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER
THROUGH FLAT ROOF SYSTEM
-RATE OF HEAT TRANSFER

QHT(152, 1)= 0.1054E+01 /

QHT(152, 2)= 0.1195E+01 w/m2
QHT(152, 3)= 0.1157E+01 w/m2
QHT(152, 4)= 0.1085E+01 w/m2
QHT(152, 5)= 0.1026E+01 W/m2
QHT(152, 5)= 0.1083E+01 W/m2
QHT(152, 7>= 0.1096E+01 W/m2
QHT(152, 8)= 0.1113E+01 W/m2
QHT(152, 9)= 0.1558E+01 W/m2
QHT(152, 10) = 0.2342E+01 / .2

QHT(152, 11) = 0.3452E+01 W/m2
QHT(152, 12) = 0.4763E+01 W/m2
QHT(152, 13) = 0.6172E+01 W/m2
QHT(152, 14) = 0.7578E+01 W/m2
QHT(152,15)=  0.8846E+01 W/m2
QHT(152, 16) = 0.9873E+01 W/m2
QHT(152, 17) = 0.9C73E+01 / .2
QHT(152, 18) = 0.8594E+01 / .2
QHT(152, 19) = 0.5804E+01 w/m:
QHT(152, 20) = 0.38 57E+01 W/m2
QHT(152, 21) = 0.3346E+01 W/m2
QHT(152, 22) = 0.2615E+01 W/m2
QHT(152, 23) = 0.2193E+01 [ .2
QHT(152, 24) = 0.1605E+01 W/m2



0000000000000 000

PROITN

PRO1TN

PROGRAM-1TN (HEAT TRANSFER THROUGH TRIANGLE ROOF SYSTEM
ON TRANSIENT CONDITION AND THERE IS NOT CEILING)

THICKNESS OF ROOF
THERMAL CONDUCTIVITY
DENSITY OF MATERIAL
SPECIFIC HEAT
REFLECTIVITY

CONVECTION HEAT TRANSFER COEFFICIENT
EMISSIVITY

AREA

SOLAR RADIATION INTENSITY
TEMPERATURE OF ROOF
AMBIENT TEMPERATURE

ROOM TEMPERATURE

o

N
—|8)>ITIIF-HC‘.}E7<|_

e
=44
T >

_DIMENSION L (4) ,K(4) , DEN(4) , C(4) ,RE(@) ,H(4,2),E(4) ,A(4),GS(4) ,
T(4,2) ,TP(4,2) ,|GT(365,24) , IDT(365,24) , TAT (365,24) |

* TAK(365,24),TT(365,24,4,2), QHT(365,24),QDT(365)

REAL LA,LL,LS,IG,ID,L,K,IGT,IDT

INTEGER DD,SDD,sMM,FDD, F\M

COMMoS Z/LC1/W1, 2, 3,W4/LC2/LA,LL,LS,AX

* /LC3/L,K,DEN,c,RE,H,E,DTI/LC4/A/LC5/ST,ND,IG,ID

* /LC6/GS/LC7/TA,TRILCS/T,TP

OPEN (T1FILE="IN1TN.DAT")

OPEN( , FILE='OUT1TN.DAT))

CALL COMMEND 0

CALL CT;j;END()
4
6Rz FLEQJORLALEDLOR( 2+ 3.LEW]) TH
vle E(*1%) DIVENSION OF E INVAL|

GO_TO 25

BD T

CALL COMMEND()

READ(/,*) LA,LL,LS

IF ((ABS(LA).GT.90.).OR.(ABS(LL).GT.180.)

*  OP” (ABS (LS) .GT. 180.)) THEN

WRITE;*,*) 'VALUE OF LA,LL,LS ARE INVALID’

GO TC 25

CALL*Commend()

READ -,*) AX

| F(AB5(AX) .GT.90.) THEN

WRITE!*,*) 'VALUE OF AX IS INVALID’
GO TO 25

CALL COMMEND!)
READ w7 ,*) L (1)
READ(7,*) K(1)
READ ,*) DEN(1)
READ ,* CF&l
CALL COMMEND()
READ 7,*) L(2)
READ ,*) K{2)
READ'7,*) DEN(2)
READ ,*) C(2)
CALL COMMENp!
READ' ,*) L 3?
READ ,*) K!3
READ ,*3 DEN(3)

READ :7, *) C(3)

CALL COMMENDY()
READ(7,*) L

READ' ,*) K\4

READ® ,*) DEN'(4)
READ!7,*) c (4)

CALL COMMEND!)
READ!?,*) (RE(l),1=1, 4)

IF("2eTi).LE.O.).OR. (RE(1).GE.1.)) THEN

[



WRITE(*,*) 'VALLE CF RE ARE INVALID
@ TO0 5
EI\D IF

%11*: 1 14
é 1= 14

READ(L) (E(1),1=1,4)

V\FéIIEEII) LE'O )\ OQOFEIQAFE I ALID'

EI\D IF
QONTINLE
CALL CI:M\/EI\DO

FEGD 7,%)
WRiE! e Qe Erssssan e
EI\D IF
CALL aWH\DO
READ(? *) TRI'

IF ( I EQ FMM) AND.(SDD.GT.FDD)) .OR.(SMM.GT.AMM)) THEN

IX 'SHOULD GHANGE NEW STARTING AND FINISHING DAY/,
CDTO o 'STARTING DAY SHALL BE BEFORE FINISHING DAY

B\D IF

DD 1=1,2

IF(LEQ.I) THN
[DB=SDD)

MEASW

e

AR

B\D IF

IF(MM.EQ.1) ND=DD
IF(MM.EQ.2; ND=31+DD
IF(MM.EQ.3) ND=59+DD
IF(MM.EQ.4) ND=90+DD
IF(MM.EQ.5) ND=120+DD
IF(MM.EQ.6) ND=151+DD
IF(MM.EQ.7) ND=181+DD
IF(MM.EQ.8) ND=212+DD
IF(MM !EQ.9) ND=243+DD
IF(MM.EQ.10) ND=273+DD
IF(MM.EQ.1I) ND=304+DD
IF(MM.EQ.12) ND=334+DD

IF(ILEQ?1) THEN
NSD-ND

NFDND

CALL

DD 10 1=1,

READ(7,%) " (IGT(I ,J), J=1,24)
QONTINLE

I302071*:1’ IDT(,J),J=1,2
%NE) ( ( 1 )l ] 4)
CALL GCOWEND)

C%E\l,%ll\)lné'i) (TAT(1,9),J=1,24)
WRITE(*,*) 'READ O.K.'
CALL

OC 120 1=1,NDT

0D 130 J=1,24
TAK(1,J)=TAT(1,J)+273.15
QoNn

QGONTINUE
TRKETRT+273.15
0D 30 1-14
0D 400 J=1,2



400
300

850

1000
900

700

1100

600

500

1200

2000

2100
1400

2200

| F(J.EQ.2) THEN
TP(1,J)=TRK

TP(I, J)=TAK(1, 1)

CONTINUE
CONTINUE
ND=NSD-1
L0=3600./DTI
NLO=LO
IF(LO.GT.NLO) NLO=NLO+1
QT=0.

DO 500 1=1,NDT
ND=ND+1

QD=0 .

DO 600 J=1,24
SUMDTI=0.

DO 700 1K=1,NLO

IF(IK.EQ.NLO) THEN

DTIDUM=DTI

DTI=3600.-SUMDTI

END IF

SUMDTI=SUMDTI+DTI

IF((ILEQ.I).AND.(J.EQ.I)) THEN

IG=IGT(1,1)

ID=IDT(1,1)

TA=TAK(1,1)

ELSE

IF (J.EQ.I) THEN

IG=(IGT (1-1,24)*(3600.-SUMDTI) +IGT(I ,1)* SUMDTI)/ 3600.
ID=(IDT(1-1,24)*(3600.-SUMDTI)+IDT(Il,1)*SUMDTI)/ 3600.
TA=(TAK(1-1,24}*(3600.-SUMDTI) +TAK(l ,1)*SUMDTI)/ 3600.
ELSE
IG=(IGT(1,J-1)*(3600.-SUMDTI)+IGT(I,J)* SUMDTI)/ 3600.
ID=(IDT(l, J-1)*(3600.-SUMDTN+ID T (I,J)* SUMDTI)/ 3600.
TA=(TAK(1,J-1)*(3600.-SUMDTI)+TAK(I,J)* SUMDTI)/ 3600.
END IF

END IF

TP=TRK
ST=J-1.+SUMDTI/3 600.
CALL SOLAR

CALL NEWRAP
IFtZ.EQ.0.) GO TO 800
QDTI=0.

QDTI-QDTI+H(IA ,2)*A(1A)* (T(IA,2)-TR)*DTI
CONTINUE

DO 900 IL=1,4

DO 1000 IM=1,2

TP(IL,IM)=T(IL,IM)

CONTINUE

CONTINUE

QH=QH+QDTI

IF (IK.EQ.NLO) DTI=DTIDUM

CONTINUE

DO 1100 IN=1,4
TT(,J,IN,1)=T(IN,1)-273.15

TT(,J,IN, 2)=T(IN,2)-273.15

CONTINUE

QHT(1,)=QH

QD=QD+QH

CONTINUE

QDT(1)=QD

QT=QT+QD

-CONTINUE

WRITE(8,1200)

FORMAT(IX,'OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER' /,
» IX, "THROUGH TRIANGLE ROOF SYSTEM ')
ND=NSD-i

DO 1300 1=1,NDT

WRITE(8,2000,

FORMAT(IX,’ -RATE OF HEAT TRANSFER PER HOUR')

DO 1400 J=1,24

WRITE(8,2100) ND,J,QHT (I, J)
FORMAT(IX,QHT(’,13,",",12,')=",E12.4,Ix ,"J/HR.")
CONTINUE

WRITE(8,2200)

FORMAT(IX ,' -RATE OF HEAT TRANSFER PER DAY')
WRITE(8, 2300) ND,QDT(I)



2300 FORMAT(IX,'QDT(',13,’)=",E12.4,Ix ,'J/DAY")
1300 CONTINUE
WRITE(8,1850) QT
1850 FORMAT(IX, '-TOTAL HEAT TRANSFER THROUGH ROOF SYSTEM'/,
* IX, '='",E12.4,1X, '3 ")
STOP
S0  WRITE(8,1900)
1900 FORMAT(IX, 'TEMPERATURES ARE DIVERGE')
STOP
END
SUBPROGRAM (ELIMINATE THE COMMENT ON THE INPUT FILE.
"<" AS A BEGINING SIGN OF COMMENT AND ">"
AS THE END.)
SUBROUTINE COMMEND ()
CHARACTER FIRST
100 READ(7 ,'(A)') FIRST
IF(FIRST.EQ." ') GO TO ;11
I F(FIRST.NE. '<") WRITE( g‘) 'INPUT ERROR'
200 READ(7,'(A)") FIRST

*

0000000000000 O0OOO0O0O0O0O 00

IF(FIRST.NE.">') GO TO 200
RETURN
END

SUBPROGRAM (FIND ROOF AREA )

Wi, 2, 3, 4 DIMENSION OF ROOF
A AREA

SUBROUTINE AREA
DIMENSION A (4)
COMMON /LC1/W1, 2, 3,W4/LC4/A

SQRT( 2* 2-((W1*wi+w2rw2-wa*w3)/ (2. ¥W1)): “2.)
A(2)= 2*W4
A(3)=A(1)
A(4)= 3Wa
RETURN
END
1
| SUBPROGRAM (SOLAR INTENSITY)

1 AA  SURFACE AZIMUTH ANGLE
: AXIS ANGLE
VALUE OF COSINE OF INCIDENCE ANGLE
VALUE OF COSINE OF ZENITH ANGLE
DECLINATION
EQUATON OF TIME CORRECTION
SOLAR RADIATION INTENSITY
HOUR ANGLE
BEAM RADIATION INTENSITY
DIFFUSE RADIATION INTENSITY
IG GOBAL RADIATION INTENSITY
LA  LATITUDE
1 |L LONGITUDE OF LOCAL
LS LONGITUDE OF STANDARD TIME
ND : NUMBER OF DAY IN THE YEAR
! RB BEAM RADIATION FACTOR
RD DIFFUSE RADIATION FACTOR
1 RR REFLECTED RADIATION FACTOR
| SL  SLOPE
ST  STANDARD TIME
1 SOr SOLAR TIME

SEIBmRO8Z

SUBROUTINE SOLAR
DIMENSION GS(4),AA(4),SL(4)

COMMON /LC1/W1,W2, 3, 4/LC2/LA,LLLS,AX, /LC5/ST,ND,IG,ID,/LC6/GS
P1-2.*ASIN(1.)

RA=PI /18 0.

DG=180. /P

ILA=LA

DEC=LA-ILA

LA=ILA+DEC/0.60

DE=23.4S*SIN(360.%(284.+ND)*RA/365.) *RA
IAX-AX

DEC-AX-IAX

AX=IAX+DEC/0.60

AA(1)=AX-90.

89



100

non

200
ICO

600

700

900

800

300

*

*

*

i t .

E=229.2%(0.000075+0.00X868*COS(B)-0.032077*SIN(B)
-0.014 615*COS(2.* B)-0.04089*SIN(2.*B))

ILL=LL
DEC=LL-ILL
LL=ILL+DEC/0.60
ILS=L
DEC=LS-ILS
LS=ILS+DEC/0.60
SOT=ST+(4.*(LL-LS)+E)/ 60.
HA=(SOT-12.)*15 .*RA
SL(1)=ASIN(1.)
SL(2)=ACOS( (WL*W1+W2*W2-W3*W3)/ (2 .*W1*W2))
SL(3)=ASIN(L.)
SL(4)=ACOS( (W1*W1+W3*W3-W2*W2)/(2.*W1*W3))

IF(CO.LT.0.) CO=0.
COZ=SIN(DE)*S IN (LA)+COS(DE)*COS(LA)*COS(HA)
IB=1G-ID

RB=CO/COZ

IF(RB.LT.0.) RB=RB*(-1.)
RD=(1.+COS(SL(1)))/ 2.
RR=0.2%(l.-cos(SL(l)))/2.
GS(I)=IB*RB+ID*RD+(IB+ID)*RR

CONTINUE

RETURN

END

| SUBPROGRAM (NEWTON-RAPHSON METHOD)

SUBROUTINE NEWRAP
DIMENSION L (4),K(4),DEN(4) ,c (4),RE(4) ,H(4,2),E(4)1A(4) ,GS(4) ,
T(4,2) 1TP (4,2) ,FT () ,DT(8)

REAL L,K

COMMON Z/LC3/L, K,DEN,c,RE,H,E,DTI/LC4/A/LC6/GS
/LC7/TA,TR/LC8/T ,TP/LCO/FT/LC10/DT

DO 100 1=1,4

DO 200 J=1,2

T(,3)=TP(l,J)

CONTINUE

CONTINUE

7=0.

DO 300 1=1,100
CALL FTATDT

IF(ABS(DT(IK)) .GT.0.001) GO TO 700
CONTINUE

zz=zz+l|

IF(zz.LT.2.) GO TO 700

RETURN

ISUM=0

DO 800 IL=1,4

IF(ILEQ.I00) WRITE{8,*) 'T(',IL, ", ',IM, )=",T(IL,IM), 'K’
IF(ILEQ.I00) WRITE{8,*) 'DT=', DT(ISUM+IM)

IF(ILEQ.I00) WRITE(8,*) 'FT=', FT(ISUM+IM)
T(L,IM)=T(IL,IM)-DT(ISUM+IM)

CONTINUE

ISUM=ISUM+2

CONTINUE

IF(I.LEQ.I00) THEN

z=0.

ELSE

END IF
CONTINUE
RETURN
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END

o0

|
| SUBPROGRAM (FIND FT,AT AND DT VALUE)

SUBROUTINE FTATDT
DIMENSION L (4),K(4),DEN(4),C(4),RE(4),H(4,2),E(4),A(4),GS(4),
* T(4,2),TP(4,2),FT(8),DT(8), AT (8,8) ,BT (8)
REAL L,K
COMMON /LC3/L,K,DEN,c,RE,H,E,DTI/LC4/A/LC6/GS
* ILC7/TA,TR/ILC8/T , TP/LCO/FT/LC10/DT/LC11/AT,BT
TS=TA-6.
SB=5.67/10.“ 8.
DO 10 1=1,8
DO 20 J=1,8
AT (1, 3)=0 .
20  CONTINUE
10  CONTINUE
MSUM=0
DO 100 1=1,4

AP TSI LR ARER T 5,0y

* +H (L, L)*A(1)*(TA-T(1,1))
* +E(I)*A (1) SB*(TS* 4.-T(1,1)" 4.)
* S-DEN(I)*c()*A(1) * (L) /2 .)*(T(1,1)-TP(l1,1))/DTI
AT(MSUM+1 MSUM+1)=-K(I)*A(l)/L (I )-H(1,1)*A(I)
4. *E(1)*A(1)*SB*T(I1,1)“ 3.

* S-DEN(D*c(D)*A()* (L(1)/2.)/DTI
AT(MSUM+1, MSUM+2) =K (I )*A (1 )/L (1)
FT(MSUM+2) K(M*A()* (T ,1)-T(,2))/L()

+H (1, 2) *A(l) * (TR-T (I, 2))
* SDEN(I) *C (1) *A(1) * (L(1)i2 .y« (T(1,2)-TP(1,2))/DTI
AT (MSUM+2,MSUM+1)=K(1)*A (1)/L (1)
AT(MSUM+2, MSUM+2)=-K(D*A()/L (1)-H(l,2)*A(l)
* -DEN(D)*C()*A(1)* (L(1)/2.)/DTI
MSUM=MSUM+2

100 CONTINUE

BT(1=F 11

200  CONTINUE
CALL GAUSS(8)

RETURN
END
0 [
C | SUBPROGRAM (GAUSS ELIMINATION)

SUBROUTINE GAUSS(N)
DIMENSION A (8,8),B(8),X(8)
COMMON /LC10/X/LC11/A,B
CALL SCALE(N)

DO 100 1=1,N-I

CALL PIVOT(N,I)

DO 200 J=1+1,N
RAT10=A;J,1)/A (1,1)

DO 300 K=I+1,N

A( K =A@, K -A(l,K) ‘RATIO
300  CONTINUE
B(J)=B(J) -B(l) ‘ RATIO
200  CONTINUE
100  CONTINUE
X (N) =B (N) /A (N,
DO 400 L=N-1,1,-
3UM=0.
DO 500 M=L+1,N
SUM=SUM+A(L, M)*x(M)
500  CONTINUE
X (L) = (B (L) -SUM) /A (L, L)
400  CONTINUE
RETURN
END

N)

| SUBPROGRAM (PERFORM SCALING FOR GAUSS ELIMINATION)
C | -

SUBROUTINE SCALE(N)

DIMENSION A(8,8),B(8)

COMMON /LC11/A,B

DO 100 1=1,N

AMAX=ABS(A(l,1))

DO 200 J=2,N

AOTH=ABS(A(I,J))

IF(AOTH.GT.AMAX) AMAX=AOTH




200

300

100

000

100

200

CONTINUE

DO 300 M=1,N

Aq ,my=a(, M [AMAX
CONTINUE

B(1)=B (I ) /AMAX
CONTINUE

RETURN

END

| SUBPROGRAM (PERFORM PARTIAL PIVOTING FOR GAUSS ELIMINATION)

SUBROUTINE PIVOT(N,1)
DIMENSION A (8,8),B (8)
COMMON /LC11/A,B

J=I

AMAX=ABS(A (1,1) )

DO 100 K=I+1,N
AOTH=ABS(A (K, 1))
IF(AOTH.GT.AMAX) THEN
AMAX-AOTH

J=K

END IF

CONTINUE

IF (J.NE.l) THEN

DO 200 L=I,N
DUMY=A(J , L)
A(J,L)=A(l,L)
A(l,L)=DUMY

CONTINUE

DUMY=B(J)

B(J)=B (I}

B(I)=DUMY

END IF

RETURN

END
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PRO1TN

<INPUT DATA FOR CALCUTATE HEAT TRANSFER THROUGH
TRIANGLE ROOF SYSTEM

<ROOF DIMENSION (m.)
wl, 2, 3, 4

10,5.77,5.77,20
<LOCATION OF ROOF (degree.minute)
LA,LL,LS

13.40,100.37,90
«ANGLE OF AXIS OF ROOF,AX (degree.minute)

0

<MATERIAL PROPERTIES OF ROOF, SIDE 1
THECKNESS, L (m.)

THERMAL CONDUCTIVITY, K ( /! .K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,c (J/kg.K)

lo

8.248

1922

1005

<MATERIAL PROPERTIES OF ROOF,SIDE 2
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,C (J/kg.K)

0.01

8.248

1922

1005

<MATERIAL PROPERTIES OF ROOF,SIDE 3
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K ~(W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,.C (J/kg.K)

0.01

8.248

1922

1005

<MATERIAL PROPERTIES OF ROOF,SIDE 4
TUTP&TITTTIQQ T. (m 1

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,C (J/kg.K)

0.01

8.248

1922

1005
<REFLECTIVITY,RE(l)

0.4,0.4,0.4,0.4

«CONVECTION HEAT TRANSFER COEFFICIENT (W/sq.m.)
H(l, 1)

H(I,2)

20,20, 20,20
10,10,10,10

<EMISSIVITY ,E(I)

0.88,0.88,0.88,0.88
«STEP TIME,DTI (sec.)

1800
«ROOM TEMPERATURE,TR (C)

25

«DURATION TIME (dd,mm)
SDD,SMM
FDD,FMM

16
1,6
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<GLOBAL RADIATION,GIT(I,J) (W/sq.m.)

0,0,0,0,2.78, 5.56, 158.3,397.22,611.11,850, 961.11, 1025, 1019.44,961.11, 813.88, 655.55, 32
4.44,210.56,50,0,0,0,0,0
<DIFFUSE RADIATION,DIT(1,d) (W/sq.m.)

0,0,0,0,0,0,19.44,63.89,119.44,161.11,183.33,213.89,219.44,211.11,169.44,138.89,86.11
,38.88,5.56,0,0,0,0,0
<AMBIENT TEMPERATURE (C)

27,26.9,26.8,26.8,26.7,26.9,27.4,28.4,30.1,31.5,32.4,33.5,34.8,35.3,35,33.5,32.5,31.3
,30.9, 3006,30.5,30.3,29.7,30.5



OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER

THROUGH TRIANGLE ROOF SYSTEM
-RATE OF HEAT TRANSFER

QHT(152,
QHT(152,

QHT(152,
QHT(152,
QHT(152,
QHT(152,
QHT(152,

0.

4215E+01

.4662E+01
.4815E+01
.5224E+01
2 485E+02
.6385E+02
.1087E+03
.1545E+03
.1854E+03
2073E+03
.2228E+03
.2268E+03
.2142E+03
.1942E+03
2241E+03
.7425E+02
.4484E+02
.3651E+02
.3425E+02
.3288E+02
.2934E+02
.2429E+02

/m2
w/m2
w/m2
w/m2
w/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
W/m2
w/m2
W/m2
W/m2
W/m2

PRO1TN
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PRO1FN

PRO1FN

PROGRAM-1FN (HEAT TRANSFER THROUGH FLAT ROOF SYSTEM
ON TRANSIENT CONDITION AND THERE IS NOT CEILING)

THICKNESS OF ROOF
THERMAL CONDUCTIVITY
DENSITY OF MATERIAL
SPECIFIC HEAT
REFLECTIVITY

CONVECTION HEAT TRANSFER COEFFICIENT
EMISSIVITY

AREA

SOLAR RADIATION INTENSITY
TEMPERATURE OF ROOF
AMBIENT TEMPERATURE

ROOM TEMPERATURE

lw)
m

(0] Py
0> mMmIMmMOZ X

= =
T >

DIMENSION L (5),K (5), DEN(5) ,C(5) , RE( ), H(5,2) ,E(5) ,A(5) ,GS(5) ,
* T(5,2),TP( ,2),IGT(365,24),IDT(365,24) ,TAT(365,24),
* TAK(365,24),TT(365,24,5,2),QHT(365,24),QDT(365)
REAL LA, LL,LS,IG,ID,L,K,IGT,IDT

INTEGER DD, SDD, SMM, FDD, FMM

COMMON Z/LC1/W1, 2, 3/LC2/LA,LL,LS, AX

* /LC3/L,K,DEN,c,RE,H,E,DTI/LC4/A/LC5/ST,ND,IG,ID

* /LC6/GS/LCTITA, TR/ILCS8IT,TP
OPEN(7,FILE='IN1FN.DAT1)

OPEN(8,FILE='0UT1FN.DAT')

CALL COMMEND!)

CALL COMMEND 0

READ (7,*) WI, 2, 3

IF ((W1.LE.0.).OR.( 2.LE.0.).OR.( 3.LE.0.)) THEN
WRITE!*7*) 'DIMENSION OF ROOF ARE INVALID'

GO TO 25

END IF

CALL COMMEND!)

READ(7.*) LA,LL,LS

IF ((ABS(LA).GT.90.).0R.(ABS(LL).GT.180.)

* _OR.(ABS(LS).GT.180.)) THEN

WRITE!**) 'VALUE OF LA,LL,LS ARE INVALID'

GO TO 25

CALL COMMEND()
READ(7,*) AX
IF(ABS{AX).GT.90.) THEN
WRITE? 1% VALUE oF Ax IS INVALID®
GO TO 25

END IF

CALL COMMEND()
READ (7.%*) L{1)
READ(7,*) K(1)
READ(7.*) DEN(1)
READ (7.*) C(1)
CALL COMMEND()
READ(7,*) L (2)
READ(7,*) K(2)
READ(7,*) DEN(2)
READ(7,*) ¢ (2)
CALL COMMENDY()
READ(7.*) L (3)
READ(7,%*) K (3)
READ| 4] DEN(3)
READ( ,") ¢ (3)
CALL COMMEND()
READ(7.*) L (4)
READ(7,5) K(4)
READ} ,,| DEN(4)
READ( ,”) c ()
CALL COMMEND 0
READ(7,*) L (5)
READ (7.*) K(5)
READ(7.*) DEN(5)



5

90

10

30

*

READ(7,*) C(5)

CALL ﬁ MEND()

READ{ (RE(X),1=1,5)

DO 2 1=1,5

IF ((R T LE.0.).OR.(RE(I).GE.1.)) THEN

WRITEC;C#) 'VALUE OF RE ARE INVALID’

GO TO 25

END IF

CONTINUE

CALL COMMEND()

READ(7,*} (H(1,1),1=

READ(7, *) (H(!,2),1=

CALL COMMEND()

READ (7,*) (E(l),1=1,5)

DO 3 1=1,5

IF((E(1).LE.0.).OR.(E(1).GE.1.)) THEN

WRITE(*,*) 'VALUE OF E ARE INVALID'

GO TO 25

END IF

CONTINUE

CALL COMMEND 0

READ(7,*) DTI

IF ((DTI.LE.0O.).OR.(DTI.GE.3600.)) THEN

WRITE(*,*) 'VALUE OF DTI IS INVALID'

GO TO 25

END IF

CALL COMMEND 0

READ(7,*) TRT

CALL COMMEND 0

READ(7,*) SDD,SMM

READ(7,*) FDD,FMM

IF (((SMM.EQ.FMM).AND.(SDD.GT.FDD)) .OR.(SMM.GT. FMM)) THEN

WRITE(*, )

FORMAT(IX, SHOULD CHANGE NEW STARTING AND FINISHING DAY'/,
IX,'STARTING DAY SHALL BE BEFORE FINISHING DAY')

GO TO 25

END IF

DO 90 1=1,2

IF(1.EQ.I) THEN

DD=SDD

MM=SMM

1,5)
1,5)

MM=FMM

END IF

IF(MM.EQ.1) ND=DD

| F(MM.EQ.2) ND=31+DD
IF(MM.EQ.3) ND=59+DD

| F(MM.EQ.4) ND=90+DD
IF(MM.EQ.5) ND=120+DD
IF(MM.EQ.6) ND=151+DD
IF(MM.EQ.7) ND=181+DD
IF(MM.EQ.8) ND=212+DD
IF (MM.EQ. 9) ND=243+DD
| F(MM.EQ.10) ND=27 3+DD
| F(MM.EQ.11) ND=304 +DD
I F(MM.EQ.12) ND=334+DD
I F(l .EQ71) THEN
NSD=ND

NFD=ND

END IF

CONTINUE

NDT=NFD-NSD+1

CALL COMMEND()

DO 10 1=1,NDT

READ(7,*) (IGT(1,J),J=1,24)
CONTINUE

CALL COMMEND 0

DO 20 1=1,NDT

READ(7,*) (IDT(1,3),3=1,24)
CONTINUE

CALL COMMEND 0

DO 30 1=1,NDT

READ (7, *) (TAT (I, J) ,J=1, 24)
CONTINUE

WRITE(*,*) 'READ O.K.1
CALL AREA

DO 120 1=1,NDT

DO 130 J=1,24
TAK(1,3)=TAT(1,J1+273.15



130
120

400
300

850

1000
900

700

1100

600

500

1200

2000

CONTINUE
CONTINUE
TRK=TRT+273.15

DO 300 1=1,5

DO 400 J=1,2

IF(J.EQ.2) THEN

TP(I, J)=TRK

ELSE

TP(I, 3)=TAK(1, 1)

END IF

CONTINUE

CONTINUE

ND=NSD-1

L0=3600./DTI

NLO=LG

IF(LO.GT.NLO) NLO=NLO+
QT=0.

DO 500 I=1,NDT

ND=ND+1

DO 600 J=1,24
SUMDTI=0.

DO 700 IK=I,NLO

IF(IK.EQ.NLO) THEN

DTIDUM=DTI

DTI=3600.-SUMDT

END IF

SUMDTI=SUMDTI+DTI
IF((ILEQ.I).AND.(J.EQ.I)) THEN
IG=IGT(1,1)

I D=IDT (1,1)

TA=TAK(1,1)

IF(J.EQ.l) THEN

IG=(IGT (1-1,24) * (3600 .-SUMDTI) +IGT (I, 1) ®'SUMDTI )/ 3600 .
ID=(IDT(1-1,24)*(3600.-SUMDTI)+IDT(l,1)'SUMDTI)/3600.
TA=(TAK(1-1,24)*(3600.-SUMDTI)+TAK(l, 1)'SUMDTI)/ 3600.
FiLSE
IG=(IGT(1,J-1)*(3600.-SUMDTI)+IGT(I,J)'SUMDTI)/ 3600.
ID=(IDT(I,3-1)*(3600.-SUMDTI)+IDT(1,J)'SUMDTI)/ 3600.
TA=(TAK(1,J-1)'(3600.-SUMDTI)+TAK(l ,J)'SUMDTI)/ 3600.
END IF

END IF

TR=TRK

ST=J-1.+SUMDTI/3600.

CALL SOLAR

CALL NEWRAP

IF(Z.EQ.0.) GO TO 800

QDTI=07?

DO 850 IA=1,5

QDTI=QDTI+H(IA,2)*A(IA)* (T(IA,2)-TR)*DTI

Continue

DO 900 IL=1,5

DO 1000 IM=1,2

TP(IL,IM)=T(IL,IM)

CONTINUE

CONTINUE

QH=QH+QDTI

IF(IK.EQ.NLO) DTI=DTIDUM

CONTINUE

DO 1100 IN=1,5

TT (I, J, IN, 1) =T (IN, 1) -273.15

TT(l, J,IN,2)=T(IN,2)-273.15

CONTINUE

QHT (I, J) =QH

QD=QD+QH

CONTINUE

QDT(I)=QD

QT=QT+QD

CONTINUE

WRITE(8,1200)

FORMAT(IX,'OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER' /,
* IX,THROUGH TRIANGLE ROOF SYSTEM ')

ND=NSD-1

DO 1300 1=1,NDT

ND=ND+1

WRITE(8,2000)

FORMAT(Ix , '-RATE OF HEAT TRANSFER PER HOUR')

DO 1400 J=1,24

WRITE (8,2100) ND, J, QHT (I, J)



2100 FORMAT(IX,1QHT(",13,",",12,')=",E12.4,IX ,"J/HR.")
1400 CONTINUE
WRITE(8,2200)
2200 FORMAT(Ix ,'-RATE OF HEAT TRANSFER PER DAY')
WRITE(8,2300) ND,QDT(l)
2300 FORMAT(IX,”QDT(',13, ')=',E12.4,Ix ,'J/IDAY")
1300 CONTINUE
WRITE(8,1850) QT
1850 FORMAT(IX,' -TOTAL HEAT TRANSFER THROUGH ROOF SYSTEM'/,
* IX,'=', E12.4,1X,'3")
25 STOP
800  WRITE(8,1900)
1900 FORMAT(IX, TEMPERATURES ARE DIVERGE')
STOP
END

SUBPROGRAM (ELIMINATE THE COMMENT ON THE INPUT FILE.
"<" AS A BEGINING SIGN OF COMMENT AND ">"
AS THE END.)

OO

SUBROUTINE COMMEND 0

CHARACTER FIRST
100  READ(7,'(A)') FIRST

IF(FIRST.EQ." ') GO TO 100

IF(FIRST NE.'<') WRITE!*,*) ‘INPUT ERROR'
200  READ(7, ' (A) ') FIRST

IF(FIRST.NE.'>') GO TO 200

RETURN

END
C
8 SUBPROGRAM (FIND ROOF AREA )
C WI, 2, 3 DIMENSION OF ROOF
C A AREA

SUBROUTINE AREA

DIMENSION A (5)

COMMON /LC1/W1, 2, 3/LCA4/A

A (1)=WL1*W2

A(2)= 2*W3

A(3)=A(L)

A(4)=A(2)

A (5)=W1*W3

RETURN

END
C
% SUBPROGRAM (SOLAR INTENSITY)
¢ AA  SURFACE AZIMUTH ANGLE
¢ AX  AXIS ANGLE
C CO VALUE OF COSINE OF INCIDENCE ANGLE
C coz : VALUE OF COSINE OF ZENITH ANGLE
¢ DE  DECLINATION
C E  EQUATON OF TIME CORRECTION
C GS  SOLAR RADIATION INTENSITY
¢ HA  HOUR ANGLE
C IB BEAM RADIATION INTENSITY
C ID : DIFFUSE RADIATION INTENSITY
8 IG : GOBAL RADIATION INTENSITY

LA : LATITUDE

¢ LL  LONGITUDE OF LOCAL
¢ LS LONGITUDE OF STANDARD TIME
¢ ND  NUMBER OF DAY IN THE YEAR
C RB  BEAM RADIATION FACTOR
C RD  DIFFUSE RADIATION FACTOR
C RR  REFLECTED RADIATION FACTOR
8 o ™y, TIME
8 SOT: SOLAR TIME

SUBROUTINE SOLAR
DIMENSION GS(5),AA(4)
REAL LA,LL,LS,IG,ID
COMMON /LC2/LA,LL,LS,AX,/LC5/ST,ND,IG,ID, /LC6/GS
PI=2.*ASIN(1.)
RA=PI1/180.

DG=180./PI

ILA=LA

DEC=LA-ILA
LA=ILA+DEC/0.60
LA=LA*RA



DE=23.45*SIN(360.¥(284.+ND)*RA/365.) *RA

Dp=AX-1AX
AX=IAX+DEC/0.60

N2 9
AA(3)=AA(1)+180 .
AA(4)=AA(1)+270.

flffm™

E=229.2*(0.000075+0.001868*COS(B)-0.032077*SIN(B)
*  .0.014615*COS{2.*B)-0.04089*SIN(2.*B))
ILL=LL

DEC=LL-ILL

LL=ILL+DEC/0.60

ILS=LS

DEC=LS-ILS

LS=ILS+DEC/0.60

SOT=ST+(4 .*(LL-LS)+E)/ 60.
HA=(SOT-12.)*15 .*RA

DO 100 1=1,4

AAIZAA(I)

CO=-SIN(DE)*COS(LA)*COS(AAI)

*  +COS(DE)*SIN(LA)*COS(AAI)*COS(HA)

*  +COS(DE)*SIN(AAI)*SIN(HA)

COZ-SIN(DE)*SIN(LA)+COS(DE)*COS(LA)*COS(HA)
IB=1G-ID
RB=CO/COZ
IF(RB.LT.0.) RB=RB*(-1.)
RD=1./ 2.
RR=0.2/2.
GS(1)=IB*RB+ID*RD+(IB+ID)*RR
100  CONTINUE

END
C l—--e--
C | SUBPROGRAM (NEWTON-RAPHSON METHOD)
c |

SUBROUTINE NEWRAP
DIMENSION L (5),K(5)1DEN(5),C(5),RE 58,H(5,2),E(5),A(5),GS(5),
* TtS,Z),TP(S,Zl ,I—‘I’(lO),DTél )
REAL L,K
COMMON Z/LC3/L,K,DEN,c,RE,H,E,DTI/LC4/A/LC6I/GS
* /ILC7/TA,TR/LC8/T, TP/LC9/FT/LC10/DT
DO 100 1=1,5
DO 200 J=1,2
T(l, J)=TP (I, J)
200 CONTINUE
100 CONTINUE
z0

DO~300 1=1,100
CALL FTATDT

IF(ABS(DT(IK)).GT.0.001) GO TO 700
600 CONTINUE
zz=7z+
IF(zz.LT.2.) GO TO 700
RETURN
700 ISUM=0
DO 800 IL=1,5
DO 900 IM=1,2
IF(I.EQ.I0OO0) WRITE(8,*) 'T(',IL,",",IM,)=",T(IL,IM), " K"
IF(I.LEQ.I00) WRITE(8, ) 'DT=', DT(ISUM+IM)
IF(I.LEQ.I00) WRITE(8,*i 'FT=', FT(ISUM+IM)
T(IL, IM)=T(IL,IM)-DT(ISUM+IM)
900 CONTINUE
ISUM=ISUM+2
800 CONTINUE
IFbI.EQ.IOO) THEN

300 CONTINUE
RETURN



20

100

200

[eNeXer]

300

200
100

500

400

END

| SUBPROGRAM (FIND FT,AT AND DT VALUE)

SUBROUTINE FTATDT
DIMENSION L (5),K (5) ,DEN(5) ,C{5),RE(5),H(5,2),E(5),A(5),GS(5),

* T(5,2) ,TP(5,2) , FT (10) , DT (10) , AT (10, 10) , BT (10)
REAL L,K

COMMON /LC3/L,K,DEN,c,RE,H,E,DTI/LC4/A/LC6/GS

* /LC7/TA,TR/LC8/T,TP/LCO/FT/LC10/DT/LC11/AT, BT
TS=TA-6.

SB=5.67/10. **'8 .
DO 10 1=1,10
DO 20 J=1,10
AT (1,30 =0.
CONTINUE
CONTINUE
MSUM=0

DO 100 1=1,5

LFTMSIM = B ST 1)) L)
)
(

* +H(I 1)*A(I)*(TAT(,1)
* +E(1)*A C) SB* (TS” 4.-T (1, 1)” 4.)
* SDEN (1) "Gy *A@)y (L )y /2.)* (T, 1)-TP (I, 1) )/DTI

AT(MSUM+1 MSUM+1)=-K(1)*A(1) /L (1)-H (1 ,1)*A(l)
<4 FE()*A(1)*SB*T (1, 1)” 3.

* -DEN (1) *C (1) *A(1) * (L (1) /2.)/DTI

AT(MSUM+1, MSUM+2) =K (I ) +A (1) /L (1)

CFT(MSUMs2) =K (1) *A (1) * (T (1,1) =T (1, 2) ) /L (1)

+H(i,2)*A (i)* (TR-T (1,2))

* SDEN()*C ()*A(1)* (L(1)/2.)* (T(1,2)-TP(1,2))/DTI

AT(MSUM+2,MSUM+1)=K (I)*A(1)/L(1)

AT(MSUM+2, MSUM+2) ==K (1 )*A (1) /L (1 )-H (1,2)*A (1)

* SDEN(I)*C(1)’A(1)*(L(1)/2.)/DTI

MSUM=MSUM+2

CONTINUE

DO 200 1=1,10

BT(1)=FT(l)

CONTINUE

CALL GAUSS(10)

RETURN

EIND L

SUBPROGRAM (GAUSS ELIMINATION)
|_

SUBROUTINE GAUSS(N)
DIMENSION A(10,10),B(10),X(10)
COMMON /LC10/X/LC11/A, B

CALL SCALE(N)

DO 100 1=1,N-I

CALL PIVOT(N,I)

DO 200 J=I+1,N
RATIO=A(J.1)/A(I1)

DO 300 K=I+1,N

A(j* K)=A (3, K) -A(l, K)’ RATIO
CONTINUE

B (J) =B (J) -B (I) * RATIO
CONTINUE

CONTINUE

X (N) =B (N) /A (N, N)

DO 400 L=N-1,1,-1

DO 500 M=L+1,N
SUM=SUM+A(L , M)*X (M)
CONTINUE

X (L) = (B (L) -SUM) /A (L, L)
CONTINUE

RETURN

END

| SUBPROGRAM (PERFORM SCALING FOR GAUSS ELIMINATION)
| e
SUBROUTINE SCALE(N)
DIMENSION A(10,10),B(10)
COMMON /LC11/A,B

DO 100 1=1,N
AMAX=ABS(A(l,1))

DO 200 J=2,N
AOTH=ABS(A(l,J))
IF(AOTH.GT.AMAX) AMAX=AOTH




200

300

000

100

200

CONTINUE

DO 300 M~1,N

A (1, M)=A (1, M) JAMAX
CONTINUE

B (1) =B (1) /AMAX
CONTINUE

RETURN

END

| SUBPROGRAM (PERFORM PARTIAL PIVOTING FOR GAUSS ELIMINATION)

SUBROUTINE PIVOT(N,I)
DIMENSION A (10,10),B(10)
COMMON /LC11/A,B

J=1

AMAX=ABS(A(1,1))

DO 100 K=1+1,N
AOTH=ABS(A(K,I))
IF(AOTH.GT.AMAX) THEN
AMAX=AOTH

END IF
CONTINUE
IF(J.NE.l) THEN
DO 200 L=I,N
DUMY=A(J,L)
A@,L)=A(1,L)
A (I, L)=DUMY
CONTINUE
DUMY=B(J)
B(J)=B(l)

B (1 )=DUMY

END IF
RETURN

END
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PRO1FN

<INPUT DATA FOR CALCUTATE HEAT TRANSFER THROUGH
FLAT ROOF SYSTEM
>

<ROOF DIMENSION (m.)
wi, 2,

10,0.5,20
<LOCATION OF ROOF (degree.minute)
LA,LL,LS

13.40,100.37,90
<ANGLE OF AXIS OF ROOF,AX (degree.minute)

0

<MATERIAL PROPERTIES OF ROOF,SIDE 1
THECKNESS, L (m.)

THERMAL CONDUCTIVITY, K ( /! .K)
DENSITY,DEN (kg/cu.m.K)

>SPECIFIC HEAT,c (J/kg.K)

i .310

2313

879

SMATERIAL PROPERTIES OF ROOF,SIDE 2
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K ( / .K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,C (J/kg.K)

0.

1.310

2243

879

<MATERIAL PROPERTIES OF ROOF,SIDE 3
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,c (J/kg.K)

0.1

1.310

2243

379

<MATERIAL PROPERTIES OF ROOF,SIDE 4
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,C (J/kg.K)

0.

1.310

2243

879

<MATERIAL PROPERTIES OF ROOF,SIDE 5
THECKNESS,L (m.)

THERMAL CONDUCTIVITY,K (W/m.K)
DENSITY,DEN (kg/cu.m.K)

SPECIFIC HEAT,c (J/kg.K)

0.15

1.298

2243

921

<REFLECTIVITY, RE(I)

0.4,0.4,0.4,0.4,0.9

<CONVECTION HEAT TRANSFER COEFFICIENT (w/sq.m.)
H(1,1)

H(1,2)

20,20,20,20,20
10,10,10,10, 10
<EMISSIVITY, E(I)

0.88,0.88,0.88,0.88,0.88
<STEP TIME,DTI (sec.)
>

103
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1800
<ROOM TEMPERATURE, TR (C)

25

<DURATION TIME (dd,mm)

SDD,SMM

FDD,FMM

18

«GLOBAL RADIATION,GIT(I,J) (W/sg.m.)

0,0,0,0,2.78,5.56,158.3,397.22,611.11,850,961.11,1025,1019.44,961.11,813.88,655.55,32
4.44,210.56,50,0,0,0,0,0
<DIFFUSE RADIATION,DIT(I,J) (W/sq.m.)

0,0,0,0,0,0,19.44,63.89,119.44,161.11,183.33,213.89,219.44,211.11,169.44,138.89,86.11

,38.88,5.56,0,0,0,0,0

<AMBIENT TEMPERATURE (C)
26.
7

(
27,26.9,26.8,26.8,26.7,
73079,30.6,3075,30"3,29.

3?62 .4,28.4,30.1,31.5,32.4,33.5,34.8,35.3,35,33.5,32.5,31.3



PRO1FN

OUTPUT DATA OF PROGRAM CALCULATE HEAT TRANSFER
THROUGH FLAT ROOF SYSTEM

-RATE OF HEAT TRANSFER

HT(152, 1>= 0.3354E+01 w/m2

HT(152, 2) . 3458E+01 wim2
HT(152, 3 .3521E+01 Wm2
HT(152, 4 .3685E+01 Wm2
HT(152, 5) .3946E+01 WIm2
HT(152, 6 .3987E+01 Wm2
HT(152, 7 4 185E+01 Wm2
HT(152, 8) .6743E+01 Wm2
HT(152, 9 J1167E+02 Wm2
HT(152, (1878E+02 Wm2
HT(152, 11 2695E+02 Wm2

.3523E+02 Wm2
.4340E+02 WIm2
S113E+02 Wm2
.5731E+02 Wm2
.6146E+02 Wm2
.6569E+02 Wm2
5611E+02 Wm2
3431E+02 Wm2
2667E+02 WIm2
.2338E+02 WIm2
.1684E+02 WIm2
.1365E+02 WIm2
.1160E+02 Wim2

—
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1 (Aligned parallel rectangles)

x=- 1Y=—

%

3

/ .
7 Q,
X
AV o
b = \{/
A
»
(1+X2)(1+Y2) 2,12 -1
A . + X(+Y Yy tan
71IXY 1+X2+Y2 (1+Y2)12
Y
+ Y(1+X2)¥2an'l-—--— —xtan"ix —Ytan V

(HX 212



L7

2. (Perpendicular rectangles

with a common edge)

a
H=— 1 -
c c
b
1
Fij= — tan 1— + Htan - - (H2+ W 2)y2tan'l
7 Vv H H + )
r
2 H2' ~
(1+W2)(1+H2)  2(1+ 2+ 2 H2(1+H2+ w 2)
X >
1+ 2+H2 (1+W2(W2+H2) (1+H2)(H2+W2)

>y



3. (Two rectangles

with a common edge)

X=— 1Y=- 1 z=x2+ y2—2XYcos())
c c

j £ —sin2(j)
Fiiz XYsint) + A — - (OM(X2+ Y2
f
X —Ycos({) Y — Xcos(|)
+ y2tan 1 + X 2tan 1
AYsing)  J Vo Xsin) )
sin2() (1+X2)(1+Y2)
+ -1
4 Vsin2() ) 1+ Z
Y 2(1+2) x 2(1+x 2)“ &+
+ Y2)n + X In s>
(1+Y2)Z Z(1+2)

1
+ Ytan’ll — | + xtan \ — | —Vztan (—)

Y' A7
Sind) sin2(t) / ;o TT
+ — X-N1+ X sin ()
Xcos(j) Y — Xcostj)
tan —F ==== +tanl —, = e

V-JI+X2sin2())y V  1+x 2sirm2@Q) >



+ coscj) JM+M,25In2() ta
0

N ¢0s(j)

+ tan
a/ 1w £,2sinl >y

f X —£,05())

« (;

S+ st 2
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2 =1 2 2 '
1 ' (Weighting factor)
Ci: (Function arguments)
=6
1=0.171324492 0 =-0.932469514
2= .360761573 € 2=-0.661209386
3=0.467913935 C3=-0.238619186
4=0.467913935 c 4= 0.238619186
5=0.360761573 c 5= 0.661209386

6= .171324492 € 6= 0.932469514



(Beam radiation 1 Ib)

(Diffuse  radiation ,Id) ( Total radiation

Global radiation ,19

13 cos 0 (1)
(72

(7 2

cos 0 [Duffie and Beckman,1991]
cos 0=sin O sin () cos p

-sin O cos () sin p cosy

+ cos 8 cos Ocos p cos @O

+ cos 8 sin () sin p cos y cos @

+cos O siny sin @sin p

)

() (Latitude)

6(declination)

360
§ (in degrees) = 23.45 sin (284 + ) (3)

365

, 1< < 365



Y(Surface azimuth angle)
(Horizontal line south)

(Horizontal plane)

@D (Hour angle) : 15°
(Solar time)
(3 (Slope)
.I.‘

2 S /‘ 1 7

/IA VSl [ /,
s 5. /
= /4 (g
o L Tssnueey /
SN\ XK /7 7
A4 'f 7»,‘%\\\\\\\ \ \.\\ ‘3/. j /

Tited plone
/

7/
*-7—Horizonldl plone
/

sz Yited piane
Hizod lire sath

Dagram illustrating ths ange of Incidence O,
the zenith eg<b e25the lan ange a , the eopes
G the suface azimuth angleV

1
) @ =0°
cos 0 = sin§ sin ) + cos O cos () cos @ 4)
0 4 (Zenith angle)

Global radiation
g- b+ w« )
— g " (6)

lg Id Pyranometer
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[Sukhatme,1996]

Gs = b Rb+ Id Rd+ ( + Id Rr @)
Gs
(/7 2
Rb (Beam radiation factor) 1 (8
Rd : (Diffuse radiation factor) 1 9
Rr : (Reflected Radiation factor) 1 (20)
Ib (6)
cos 0
Rb = )
cos 0
1 + cos (3
Rd = e 9)

(1 + cos (3)2

(1+cos (3)2

(1 -cos (3)2

N1 -cos (3

Rr = 9 v ) J (10)

cp
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(p [Sukhatme,1996] 0.2
3
(Standard
Time)
(Longitude)
(Longitude) (Standard Time) 4
1 (Equation of time
correction)
(LAT)
LAT = ST+4(LMO-Ls)+E (11)
LAT
ST
Lst
Liac
E : (Equation of time correction)
[Duffie and Beckman,1991]
E = 229.2(0.000075+0.001868 cosB - 0.032077 sinB
- 0.014615 COS2B - 0.04089 sin2B) (12)
B=(n —1)-—- (13)

365
1 1< < 365
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5.77

~
-~

\\
U \
\\\ \\~-. \ 20
10 \\\\\W‘
T

UN 1 URAIIUIAUDILULINRDINRIATAEND

10x20
10 x 5.77 x 5.77 x 20

13 40
100 37
AXIS ANGLE 0
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